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BIOLOGY

BOOKS - S DINESH & CO BIOLOGY (HINGLISH)

MICROBES IN HUMAN WELFARE

Mcq

1. Who of the following scientists showes that
Saccharomyces cerevisiae causes fermentation forming
produces such as beer and buttermilk?

A. Louis Pasteur

B. Alexander Fleming


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LYZ3bc2VRbtg

C. Selman Waksman

D. Schatz

Answer: A

° Watch Video Solution

2. Waksman got the Noble Prize for the discovery of

A. Penicillin

B. Neomycin

C. Chloromycetin

D. Streptomycin

Answer: D


https://dl.doubtnut.com/l/_LYZ3bc2VRbtg
https://dl.doubtnut.com/l/_oyeCapnIPKUD

o Watch Video Solution

3. A compound produced by an organism which inhibits

the growth of another organisms is :

A. Antiseptic

B. Antibiotic

C. Anticoagulent

D. Antibodies

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oyeCapnIPKUD
https://dl.doubtnut.com/l/_UBjdLuCXGEhO

4. Woodruf (1941) were responsible for the isolation of

A. Stretomycin

B. Penicillin

C. Actinomycin

D. Neomycin

Answer: C

o Watch Video Solution

5. Fleming is famous for his discovery of

A. Actinomycin


https://dl.doubtnut.com/l/_FxREHKN3SqJy
https://dl.doubtnut.com/l/_hC2P2KWmeOZp

B. Penicillin

C. Chloromycetin

D. Streptomycin

Answer: B

o Watch Video Solution

6. Processed cheese is

A. Soft cheese

B. Blended cheese

C. Ripe cheese

D. Hard cheese


https://dl.doubtnut.com/l/_hC2P2KWmeOZp
https://dl.doubtnut.com/l/_bRfZ7AAmWMlS

Answer: B

o Watch Video Solution

7.lmmobilisation protects an enzyme against

A. High temperature

B. Low temperature

C. Amylases

D. Proteases

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_bRfZ7AAmWMlS
https://dl.doubtnut.com/l/_jLe4QQU2zWax
https://dl.doubtnut.com/l/_wGht7tnyCktf

8. Immobilised Yeast is

A. Preserved for future use

B. Little active in fermentation

C. 20 times more efficient

D. Food Yeast

Answer: C

° View Text Solution

9.Rennet is employed in :

A. Bread making

B. Fermentation


https://dl.doubtnut.com/l/_wGht7tnyCktf
https://dl.doubtnut.com/l/_6Li2WEwJWu1h

C. Cheese making

D. Synthesis of antibiotics

Answer: C

° Watch Video Solution

10. The terms "antibiotic " was coined by:

A. Fleming

B. Waksman

C. Funk

D. Jenner

Answer: B


https://dl.doubtnut.com/l/_6Li2WEwJWu1h
https://dl.doubtnut.com/l/_fbszrpTRCfn3

o Watch Video Solution

11. Tissue plasminogen activator is

A. A vitamin

B. An electric device

C. An enzyme

D. A chemical that stimulates tissue differentiation

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fbszrpTRCfn3
https://dl.doubtnut.com/l/_fXmseYnJMZ3S

12. Germinating barley seeds are emploved in the

preparation of

A. Wine

B. Beer

C. Lactic acid

D. Cheese

Answer: B

o Watch Video Solution

13. Which microorganisms is empolyed in production of

dextran ?


https://dl.doubtnut.com/l/_TeqPnTMe7Yer
https://dl.doubtnut.com/l/_0nKxPnoTk83K

A. Leuconostoc

B. Torulopsis

C. Rhizopus

D. Lactobacillus

Answer: A

o View Text Solution

14. Payen and Persoz (1833) discovered

A. Lactase

B. Rennet

C. Diastase


https://dl.doubtnut.com/l/_0nKxPnoTk83K
https://dl.doubtnut.com/l/_qwA8zK6OrcQE

D. Protease

Answer: C

o Watch Video Solution

15. A bioreactor refers to :

A. Fermentation tank

B. Culture containing radioactive isotopes

C. Culture for synthesis of new chemicals

D. Hybridoma

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qwA8zK6OrcQE
https://dl.doubtnut.com/l/_VrLfRx9mOr9o

16. Yeast cells can be immobilised in

A. Silica gel

B. Calcium alginate

C. Porcelain column

D. Encapsulation

Answer: B

° Watch Video Solution

17. Enzyme immobilisation is

A. Conversion of an active enzyme into inactive form


https://dl.doubtnut.com/l/_VrLfRx9mOr9o
https://dl.doubtnut.com/l/_uH7z93vltEW8
https://dl.doubtnut.com/l/_PCK0IdU1k91f

B. Providing enzyme with protective covering

C. Changing a soluble enzyme into insoluble state

D. Changing pH so that enzyme is not able to carry out

its functions

Answer: B

o Watch Video Solution

18. Biogas production from waste biomass with the help of

methanogenic bacteria is

A.Single step aerobix process

B. Two step aerobic process


https://dl.doubtnut.com/l/_PCK0IdU1k91f
https://dl.doubtnut.com/l/_rjIwCemTM5vq

C. Three step aerobic process

D. Three step anaerobic process

Answer: D

° Watch Video Solution

19. Methanogens convert

A. Methyl alcohol into methane

B. Formic acid into methane

C. Acetic acid into methane

D. All the above

Answer: D


https://dl.doubtnut.com/l/_rjIwCemTM5vq
https://dl.doubtnut.com/l/_kx6koiKQntFG

o View Text Solution

20. Primary treatment of sewage is

A. Physical process

B. Biological process

C. Chemical process

D. Biochemical process

Answer: A

° Watch Video Solution

21. Primary sludge is used for


https://dl.doubtnut.com/l/_kx6koiKQntFG
https://dl.doubtnut.com/l/_RM3MssJDawDA
https://dl.doubtnut.com/l/_yWEyM2ZCnBS8

A. Preparation of compost

B. Preparation of manure

C. Biogas production

D. All the above

Answer: D

o View Text Solution

22. Passage of effluents into oxidation tank is for

A. Primary treatment

B. Secondary treatment

C. Tertiary treatment


https://dl.doubtnut.com/l/_yWEyM2ZCnBS8
https://dl.doubtnut.com/l/_y0Tk1WVNaymC

D.Both Aand B

Answer: B

o Watch Video Solution

23. Cyclosporin A is used for

A. Dissolving blood clots

B. Lowering cholesterol level

C. Immunosupression

D. Enhancing tenderness of meat

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_y0Tk1WVNaymC
https://dl.doubtnut.com/l/_LArR7um4wRTv

24. Cyclosporin A, used as immunosuppressive agent is

obtained from

A. Bacterium Bacillus subtilis

B. Fungus Trichoderma polysporum

C. Fungus Tolypocladium inflatum

D.Both B and C

Answer: D

° Watch Video Solution

25, Statin is used for


https://dl.doubtnut.com/l/_LArR7um4wRTv
https://dl.doubtnut.com/l/_XE9NkW2iqdvQ
https://dl.doubtnut.com/l/_TmueysO5v6qM

A. Lowering LDL cholesterol

B. Lipid digestion during ripening of cheese

C. Detergents

D. Flavouring edibles

Answer: A

o Watch Video Solution

26. Blood cholesterol lowering statins are obtained from

A. Streptococcus

B. Mucor javanicus

C. Monascus purpureus


https://dl.doubtnut.com/l/_TmueysO5v6qM
https://dl.doubtnut.com/l/_0c0vwFBj5CwL

D. Clostridium butyricum

Answer: C

° Watch Video Solution

27.Red wine is colured with the help of

A. Apple skin

B. Grape skin

C. Apricot skin

D. Peach skin

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0c0vwFBj5CwL
https://dl.doubtnut.com/l/_9nMR21MRKCcz

28. Brandy is generally a product of

A. Cider wine

B. Lager beer

C. Grape wine

D. Champagne

Answer: C

o Watch Video Solution

29. Hops used for flavouring beer are

A. Fruits of Humulus


https://dl.doubtnut.com/l/_9nMR21MRKCcz
https://dl.doubtnut.com/l/_LCkqZzlX2IPf
https://dl.doubtnut.com/l/_DJOFkgixZ30E

B. Seeds of Humulus

C. Dried petals of Humulus

D. Dried sepals of Humulus

Answer: C

o Watch Video Solution

30. Gin is flavoured with

A. Juniper berries

B. Acorns of Oak

C. Apple juice

D. Cashew Apple


https://dl.doubtnut.com/l/_DJOFkgixZ30E
https://dl.doubtnut.com/l/_oDIY4ayXXPck

Answer: A

o Watch Video Solution

31. Dosa and Idli are preparations of

A. Wheat flour

B. Rice

C. Rice and Black Gram

D. Wheat and Black Gram

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_oDIY4ayXXPck
https://dl.doubtnut.com/l/_alVFwdDopLNR
https://dl.doubtnut.com/l/_6VO7ex3dMCY9

32.The fermenting agent of dosa and idli is

A. Saccharomyces cerevisiae

B. Leuconostoc mesenteroides

C. Streptococcus faecalis

D.Both B and C

Answer: D

° Watch Video Solution

33. A soyabean preparation is

A. Tempeh

B. Sofu


https://dl.doubtnut.com/l/_6VO7ex3dMCY9
https://dl.doubtnut.com/l/_svPT2Oulfk5h

C. Tofu

D. All the above

Answer: D

° Watch Video Solution

34. Sausages are fermented

A. Vegetables

B. Meats

C. Milk

D. Sauce

Answer: B


https://dl.doubtnut.com/l/_svPT2Oulfk5h
https://dl.doubtnut.com/l/_TjRnVRkhUDGa

o Watch Video Solution

35. Fertilizers applied to crop plants, pollute

A. Soil resources

B. Water resources

C. Both soil and water resources

D. Soil, water and atmosphere

Answer: C

° Watch Video Solution

36. Types of manures are


https://dl.doubtnut.com/l/_TjRnVRkhUDGa
https://dl.doubtnut.com/l/_BplbNXUbscH1
https://dl.doubtnut.com/l/_MPUYjEqonEvA

A. Farmyard, composited and green

B. Green and farmyard

C. Green and composited

D. Farmyard and composited

Answer: A

o Watch Video Solution

37. The chemical fertilizer required for better rhizobial

nitrogen fixation is

A. Phosphorus

B. Potassium


https://dl.doubtnut.com/l/_MPUYjEqonEvA
https://dl.doubtnut.com/l/_6Pv9UXVYJOwT

C. Calcium

D. Sodium

Answer: A

° Watch Video Solution

38. A nitrogen fixing bacterium that forms a loose
assocation with the roots of crop plants is

Or

Which one of the following micro-organisms is used as a

bio fertilizer

A. Azotobacter

B. Bacillus polymyxa


https://dl.doubtnut.com/l/_6Pv9UXVYJOwT
https://dl.doubtnut.com/l/_mOxAYEjBq0Ee

C. Clostridium

D. Azospirillum

Answer: D

° Watch Video Solution

39. A legume having symbiotic association with two

nitrogen fixing bacteria (Rhizobium and Aerospirillum ) is

A. Crotalaria juncea

B. Sesbania aculeata

C. Sesbania rostrata

D. Cyamopsis tetragonoloba


https://dl.doubtnut.com/l/_mOxAYEjBq0Ee
https://dl.doubtnut.com/l/_8NMAdMvysJyM

Answer: C

o Watch Video Solution

40. Composited manure is formed from

A. Rotted vegetable and animal refuse

B. Farmyard manure and green manure

C. Farm refuse and household refuse

D.Organic wastes from which biogas has been

extracted

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8NMAdMvysJyM
https://dl.doubtnut.com/l/_ZR9jSPZygbl0

41. Mycorrhiza is a symbiotic association between

A. Bacteria and fungi

B. Algae and fungi

C. Fungi and roots of higher plants

D. Blue green algae and roots of higher plants

Answer: C

o Watch Video Solution

42.Biopesticides include

A. Bioherbicides


https://dl.doubtnut.com/l/_ZR9jSPZygbl0
https://dl.doubtnut.com/l/_eegHO6McyKzr
https://dl.doubtnut.com/l/_1rWnNMkuh37n

B. Bioinsecticides

C. Bioherbicides and bioinescticides

D. Bioherbicides, bioinescticides and biofertilizers.

Answer: C

o Watch Video Solution

43. The first bioherbicide developed in 1981 was based on

A. Phytophthora palmivora

B. Phytophthora infestans

C. Bacillus thuringenesis

D. Azadirachta indica


https://dl.doubtnut.com/l/_1rWnNMkuh37n
https://dl.doubtnut.com/l/_4yX0gkkoU9gM

Answer: A

o Watch Video Solution

44. A major pest eradicated through release of sterile

males is

A. Screw worm

B. Aphids

C. Ladybug

D. Praying Mantis

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4yX0gkkoU9gM
https://dl.doubtnut.com/l/_rJyh8UotKDUG

45, Pheromones are chemicals that are used in animals for

A. Sex attractants

B. Sending alarm signals

C. Marking trails

D. All the above

Answer: D

o Watch Video Solution

46. Rotenone is a

A. Natural herbicide


https://dl.doubtnut.com/l/_tcVUwVowbvzA
https://dl.doubtnut.com/l/_oEaaKPEkV6bC

B. Bioherbicide

C. Natural bioinsecticide

D. Insect hormone

Answer: C

o Watch Video Solution

47. A natural insecticide obtained from plants is

A. Azadirachtin

B. Rotenone

C. Nicotine, pyrethrum and cinerin

D. All the above


https://dl.doubtnut.com/l/_oEaaKPEkV6bC
https://dl.doubtnut.com/l/_Vrt6lGLC669f

Answer: D

o Watch Video Solution

48.VAM is important for

A. Bioinsecticide

B. Bioherbicide

C. Endomycorrhiza

D. Ectomycorrhiza

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Vrt6lGLC669f
https://dl.doubtnut.com/l/_HGSD09eP9Rdd
https://dl.doubtnut.com/l/_z6i7vDqhMC6y

49, Cochineal insect has been used in checking the wild

growth of

A. Opuntia

B. Eichhorina

C. Aphids

D. Screw worm

Answer: A

o Watch Video Solution

50. Pheromone traps have

A. Sterile males


https://dl.doubtnut.com/l/_z6i7vDqhMC6y
https://dl.doubtnut.com/l/_XaZxxgBAH3qn

B. Male pheromones

C. Female pheromones

D. Sterile females

Answer: C

o Watch Video Solution

51. In confusion technique, the pheromone coated paper

strips are thrown over an area in order to

A. Attract insects and kill them

B. Repel insects from an area


https://dl.doubtnut.com/l/_XaZxxgBAH3qn
https://dl.doubtnut.com/l/_9IcOrtwObbbM

C.Confuse males so that they are unable to locate

females

D. Confuse females so that they are unable to locate

males

Answer: C

o Watch Video Solution

52. Juvenile hormone causes

A. Early sexual maturity

B. Late sexual maturity

C. Completion of larval stages


https://dl.doubtnut.com/l/_9IcOrtwObbbM
https://dl.doubtnut.com/l/_wk7NvuzJ654H

D. Development of giant larva without

undergo maturation

Answer: D

ability to

o Watch Video Solution

53. Pyrethrin is a common ingredient of

A. Mosquito coils

B. Fly sprays

C. Mosquito mats

D. All the above

Answer: D


https://dl.doubtnut.com/l/_wk7NvuzJ654H
https://dl.doubtnut.com/l/_oM0HeBbdtzYN

o Watch Video Solution

54.Thurioside is

A. Insecticide

B. Fungicide

C. Antibiotic

D. Weedicide

Answer: A

o Watch Video Solution

55. Antifeedant property occurs in


https://dl.doubtnut.com/l/_oM0HeBbdtzYN
https://dl.doubtnut.com/l/_HLhFjGwrg0UQ
https://dl.doubtnut.com/l/_xvCrfdmvMFOl

A. Nicotine

B. Azadirachtin

C. Rotenone

D. Cinerin

Answer: B

o Watch Video Solution

56. Ladybug is a predator of

A. Moths

B. Beetles

C. Bacteria


https://dl.doubtnut.com/l/_xvCrfdmvMFOl
https://dl.doubtnut.com/l/_IEkE8TpwiTzM

D. Aphids

Answer: D

o Watch Video Solution

57. Most active nitrogen fixing blue-green alga of rice fields

is

A. Anabaena azollae

B. Aulosira fertilissima

C. Cylindrospermum licheniforme

D. Nostoc cycadacearum

Answer: B



https://dl.doubtnut.com/l/_IEkE8TpwiTzM
https://dl.doubtnut.com/l/_p5CZsiCZibAk

l o Watch Video Solution

58. Azolla enriches rice fields with nitrogen due to its
association with
Or
A free living nitrogen fixing cyanobacterium which can also
form symbiotic association with the water fern Azolla is

A. Anabaena

B. Nostoc

C. Rhizobium

D. Frankia

Answer: A

I ° Watch Video Solution


https://dl.doubtnut.com/l/_p5CZsiCZibAk
https://dl.doubtnut.com/l/_yywrjccLWQmB

59. VAM is

A. Vesicular-arbuscular mycorrhiza

B. Variable adenine mutation

C. Variable associative mutualism

D. Vitamins and minerals

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yywrjccLWQmB
https://dl.doubtnut.com/l/_UqMJ3GWctAfY

1. Pyrethrin is extracted from

A. Azadirachta indica

B. Helianthus annuus

C. Poa indica

D. Chrysanthemum cinerarifolium

Answer: D

o Watch Video Solution

2. The earliest pesticide was

A. Margosa


https://dl.doubtnut.com/l/_7TvsI67rrsGu
https://dl.doubtnut.com/l/_SiBAgQlYy51F

B. Pyrethrum

C. Nicotine

D.DDT

Answer: A

o Watch Video Solution

3. Yeast is used in preparation of

A. Acetic acid

B. Curd

C. Ethyl alcohol

D. Cheese


https://dl.doubtnut.com/l/_SiBAgQlYy51F
https://dl.doubtnut.com/l/_lmJaHDj7LZmm

Answer: C

o Watch Video Solution

4. Penicillin was discovered by

A. Fleming

B. Waksman

C. Burkholder

D. Dubois

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_lmJaHDj7LZmm
https://dl.doubtnut.com/l/_Iich57gutRHp
https://dl.doubtnut.com/l/_60JpuM05EoT6

5. Terramycin is obtained from:

A. Streptomyces griseus

B.S. uenezuelae

C.S. aureofaciens

D. S. ramosus

Answer: D

° Watch Video Solution

6. Germinating barley seeds are emploved in the

preparation of

A. Lactic acid


https://dl.doubtnut.com/l/_60JpuM05EoT6
https://dl.doubtnut.com/l/_Bqkm2dMeWeqY

B. Wine

C. Cheese

D. Beer

Answer: D

o Watch Video Solution

7. Streptomyces griseus produces antibiotic

A. Terramycin

B. Chloramphenicol

C. Neomycin

D. Streptomycin


https://dl.doubtnut.com/l/_Bqkm2dMeWeqY
https://dl.doubtnut.com/l/_I9FxdFqZZJot

Answer: D

o Watch Video Solution

8. Streptomycin is effective against bacteria

A. Gram (+)

B. Gram (-)

C.Both Aand B

D. Gram neutral

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_I9FxdFqZZJot
https://dl.doubtnut.com/l/_mciCGBjVl605
https://dl.doubtnut.com/l/_B2XDbPzBSjVL

9. Conversion of sugar into alcohol during fermentation is

due

A. Microorganisms

B. Zymase

C. Raised temperature

D. Decomposition of sugar

Answer: B

o Watch Video Solution

10. In cheese, manufacture microorgansim are important

for:


https://dl.doubtnut.com/l/_B2XDbPzBSjVL
https://dl.doubtnut.com/l/_fjgYJHw8N6s4

A.Ripening

B. Sourcing of milk

C. Sourcing and ripening

D. Development of resistance to spoilage

Answer: C

o Watch Video Solution

11. Glucose fermentation by Yeast yields

A. Ethanol +CO,

B. Ethanol + H,O

C. Methanol +CO,


https://dl.doubtnut.com/l/_fjgYJHw8N6s4
https://dl.doubtnut.com/l/_7lMnTNvnTvWp

D. H,O + CO,

Answer: A

° Watch Video Solution

12. Cheese and Yoghurt are porduct of the porcess

A. Pasteurisation

B. Fermentation

C. Dehydration

D. Distillation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7lMnTNvnTvWp
https://dl.doubtnut.com/l/_gmMPXbhfrYvs

13. Root nodules for nitrogen fixation of a nonleguminous

trees possess

A. Frankia

B. Rhizobium

C. Azotobacter

D. Thiobacillus

Answer: A

° Watch Video Solution

14. Which is correct?


https://dl.doubtnut.com/l/_gmMPXbhfrYvs
https://dl.doubtnut.com/l/_DUE3ps4H8n5j
https://dl.doubtnut.com/l/_08qFTvWdJvy7

A. Legumes fix nitrogen through bacteria in their leaves

B. Legumes fix nitrogens through bacteria in their roots

C. Legumes fix nitrogens independent of bacteria

D. Legumes do not fix nitrogen.

Answer: B

° Watch Video Solution

15. VAM represents

A. Saprophytic fungi

B. Symbiotic fungi

C. Saprophytic bacteria


https://dl.doubtnut.com/l/_08qFTvWdJvy7
https://dl.doubtnut.com/l/_qTjcFvFE1w7e

D. Symbiotic bacteria

Answer: B

° Watch Video Solution

16. Mycorrhiza exhibits the phenomenon of

A. Antagonism

B. Endemism

C. Symbiosis

D. Parasitism

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qTjcFvFE1w7e
https://dl.doubtnut.com/l/_97A8JfN3UKx0

17.BGA is chiefly used as fertilizer in

A. Wheat

B. Paddy

C. Mustard

D. Gram

Answer: B

o Watch Video Solution

18. Curd, milk, cheese and butter are produced with the

help of:


https://dl.doubtnut.com/l/_97A8JfN3UKx0
https://dl.doubtnut.com/l/_H59znMQkx4eC
https://dl.doubtnut.com/l/_Pv4onXfsc9T2

A. Yeast

B. Penicillium

C. Streptococcus

D. None of the above

Answer: C

o Watch Video Solution

19. Vinegar is prepared from fermented sugar solution by

the activities of

A. Lactobacillus

B. Acetobacter


https://dl.doubtnut.com/l/_Pv4onXfsc9T2
https://dl.doubtnut.com/l/_qFbCQmpHVdjF

C. Azotobacter

D. Rhizobium

Answer: B

° Watch Video Solution

20. Which one of the following is not uded in the

production of yoghurt

A. Streptococcus lactis

B. Streptococcus thermophilus

C. Lactobacillus bulgaricus

D. Acetobacter aceti.


https://dl.doubtnut.com/l/_qFbCQmpHVdjF
https://dl.doubtnut.com/l/_aqHtIoCyRezY

Answer: D

o Watch Video Solution

21. Which one of the following is used in the production of

alcohol ?

A. Saccharomyces cerevisiae

B. Torulopsis utilis

C. Clostridium botulinum

D. Leuconostoc citrovorum

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aqHtIoCyRezY
https://dl.doubtnut.com/l/_qwkDc9ZBol0I

22.Rennin used in cheese indusry is

A. Inhibitor

B. Alkaloid

C. Enzyme

D. Inhibitor

Answer: C

o Watch Video Solution

23. Distillation of wine is necessary as it

A. Increases quality


https://dl.doubtnut.com/l/_NR0H70lQoj8W
https://dl.doubtnut.com/l/_rAbdjflUgopw

B. Prevents further fermentation and spoiling of wine

C. Decreases toxicity

D. Has no action on nature of wine

Answer: B

o Watch Video Solution

24. Distribution of clean and quality milk throughout the

world has been made possible through work of

A. Leeuwenhoek

B. Koch

C. Pasteur


https://dl.doubtnut.com/l/_rAbdjflUgopw
https://dl.doubtnut.com/l/_GzeEVkRMMTNn

D. Blackman

Answer: C

o Watch Video Solution

25. Which is false about antibiotics ?

A. Coined by Waksman (1942)

B. Produced by microorganisms

C. Produce allergy in some persons

D. Cure all diseases

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GzeEVkRMMTNn
https://dl.doubtnut.com/l/_0IEqsPMxSBwX

26. Pasteurisation is carried out at

A. 120° C for 60 minutes

B.60° — 63° C for thirty minutes

C.70° C for 60 minutes

D. 80° C for 30 minutes

Answer: B

° Watch Video Solution

27. Nitrogen fixation is

A.Nitrogen — Ammonia


https://dl.doubtnut.com/l/_0IEqsPMxSBwX
https://dl.doubtnut.com/l/_MwqpBdJ0EVmB
https://dl.doubtnut.com/l/_aoKM4RyTLPyt

B. Nitorgen — Nitrates

C. Nitrogen — Amino acids

D.Both Aand B

Answer: D

o Watch Video Solution

28. Leghaemoglobin occurs in

A. Coralloid root

B. BGA

C. Around bacteriods

D. Mycorrhiza


https://dl.doubtnut.com/l/_aoKM4RyTLPyt
https://dl.doubtnut.com/l/_c2KDD7EPFKI9

Answer: C

o Watch Video Solution

29. Azotobacter and Bacillus polymyxa are

A. Decomposers

B. Nonsymbiotic nitrogen fixers

C. Symbiotic nitrogen fixers

D. Pathogenic bacteria

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_c2KDD7EPFKI9
https://dl.doubtnut.com/l/_1urBu5uMv1SF
https://dl.doubtnut.com/l/_vSQzNNlARuil

30. Biofertilizers include

A. Cowdung manure and farmyard waste

B. A quick growing crop ploughed back

C. BGA/Anabaena and Azolla

D. All the above

Answer: C

° Watch Video Solution

31.Yield of paddy field can be increased by application of

A. Iron bacteria

B. Nostoc/Anabaena


https://dl.doubtnut.com/l/_vSQzNNlARuil
https://dl.doubtnut.com/l/_N42nzGj8Ij0r

C. Archaebacteria

D. Symbiotic bacteria

Answer: B

° Watch Video Solution

32. Green manure plants belong to

A. Compositae

B. Solanaceae

C. Poaceae

D. Leguminosae

Answer: D


https://dl.doubtnut.com/l/_N42nzGj8Ij0r
https://dl.doubtnut.com/l/_5ETcQ430H1Jl

o Watch Video Solution

33. Yoghurt is produced with the help of

A. Lactobacillus bulgaricus

B. Lactobacillus thermophilus

C. Streptococcus thermophilus

D.Both Aand C

Answer: D

° Watch Video Solution

34. Which ones are involved in preparation of alcohol ?


https://dl.doubtnut.com/l/_5ETcQ430H1Jl
https://dl.doubtnut.com/l/_yHMWo6JP3YfK
https://dl.doubtnut.com/l/_5M85YSPcjDgI

A. Yeast

B. Slime Moulds

C. Bacteria

D. Water Moulds

Answer: A

o Watch Video Solution

35. Penicillin is got from

A. Streptomyces griseus

B. Penicillium chrysogenum

C. Penicillium griseofulvum


https://dl.doubtnut.com/l/_5M85YSPcjDgI
https://dl.doubtnut.com/l/_d9xjLatVhLor

D. Aspergillus fumigatus

Answer: B

o Watch Video Solution

36. Streptomycin is obtained from

A. Streptomyces antibioticus

B. Streptomyces nodosus

C. Streptomyces griseus

D. Streptomyces rimosus

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_d9xjLatVhLor
https://dl.doubtnut.com/l/_zKX9wfajY1tN

37. Antibiotics are mostly obtained from

A. Fungi

B. Actinomycetes/Bacteria

C.Boh AandB

D. Cyanobacteria

Answer: C

o Watch Video Solution

38. Cheese are classified on the basis of

A. Flavour


https://dl.doubtnut.com/l/_zKX9wfajY1tN
https://dl.doubtnut.com/l/_qpn5NNG0umNG
https://dl.doubtnut.com/l/_WLtiRkWh9kY0

B. Colour

C. Texture

D. All the above

Answer: D

o View Text Solution

39. During fermentation by Yeast, alcohol is formed from

A. Proteins

B. Sugars

C. Mucopolysaccharides

D. Fats


https://dl.doubtnut.com/l/_WLtiRkWh9kY0
https://dl.doubtnut.com/l/_Lo3KcSowPdNB

Answer: B

o Watch Video Solution

40. Which is a microbial insecticide ?

A. Bacillus thuringiensis

B. B. subtilis

C. B. polymixa

D. B. brevis

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Lo3KcSowPdNB
https://dl.doubtnut.com/l/_UISxfmYMLGJN
https://dl.doubtnut.com/l/_ckg275S92mJS

41. Aquatic fern which is an excellent biofertilizer

A. Salvinia

B. Azolla

C. Marsilea

D. Pteridium

Answer: B

° Watch Video Solution

42. Enzymes that changes glucose to ethyl alcohol is

A. Zymase

B. Diastase


https://dl.doubtnut.com/l/_ckg275S92mJS
https://dl.doubtnut.com/l/_wIFlnT3Gc0Mm

C. Invertase

D. Maltase

Answer: A

° Watch Video Solution

43. Citric acid is got from

A. Aspergillus niger

B. Rhizobium nigricans

C. Pencillium citrinum

D. Lactobacillus vulgaricus

Answer: A


https://dl.doubtnut.com/l/_wIFlnT3Gc0Mm
https://dl.doubtnut.com/l/_eNQtejIiJyW8

o Watch Video Solution

44, Penicillin inhibits bacterial multiplication because

A. Checks RNA synthesis

B. Checks DNA synthesis

C. Destroys chromatin

D. Inhibits cell wall formation.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_eNQtejIiJyW8
https://dl.doubtnut.com/l/_2UUg33B1hNyJ

45. Which of the following can use molecule nitrogen as

nutrient

A. Methanomonas

B. Mucor

C. Rhizobium

D. Spirogyra

Answer: C

o Watch Video Solution

46. If wheat field is inoculated with Rhizobium

A. Soil with become nitrogen rich


https://dl.doubtnut.com/l/_J0hEDprUu0FL
https://dl.doubtnut.com/l/_nKhIkThmgvXt

B. No effect on soil nitrogen

C. Soil will be deplected of nitrogen

D. Soil will become rich in calcium

Answer: B

o Watch Video Solution

47. Farmers have reported 50% higher yield of rice by

using biofertilizer

A. Azolla pinnata

B. Legume-Rhizobium symbiosis

C. Cyanobacteria


https://dl.doubtnut.com/l/_nKhIkThmgvXt
https://dl.doubtnut.com/l/_S9Z6VZpWdJ1h

D. Mycorrhiza

Answer: A

o Watch Video Solution

48. Which is correct about nitrogen fixation by legumes.

They fix nitrogen through

A. Specialised bacteria in their through

B. Specialised bacteria in their roots

C. Independent of bacteria that live in their roots

D. The statement is wrong.

Answer: A



https://dl.doubtnut.com/l/_S9Z6VZpWdJ1h
https://dl.doubtnut.com/l/_OrGmb231Za8m

l o View Text Solution

49. Thurioside is proteinaceous toxin obtained from

A. Biofertiliser

B. Green manure

C. Bacterial origin

D. Farmyard manure

Answer: C

° Watch Video Solution

50.The latest trend in plant disease control is


https://dl.doubtnut.com/l/_OrGmb231Za8m
https://dl.doubtnut.com/l/_oXmQ0DEEPJrQ
https://dl.doubtnut.com/l/_3WnqLNXuyFJM

A. Chemical control

B. Biological control

C. Good manure and fertiliser

D. Breeding for disease resistance

Answer: B

o Watch Video Solution

51. The antibiotic cephalosporin is obtained from a species

of:

A. Bacterium

B. Alga


https://dl.doubtnut.com/l/_3WnqLNXuyFJM
https://dl.doubtnut.com/l/_krHiNmzdkdlJ

C. Fungus

D. Mycoplasma

Answer: C

° Watch Video Solution

52. Product of fermentation of glucose by Yeast is

A. (CsH100:s5),,

B. CoH,OH

C. CGH1206

D. CH;0H

Answer: B



https://dl.doubtnut.com/l/_krHiNmzdkdlJ
https://dl.doubtnut.com/l/_5rvf7jk9qqUo

o Watch Video Solution

53. Group of bacteria used in biogas production is

A. Eubacteria

B. Organotrophs

C. Methanotrophs

D. Methanogens

Answer: D

° Watch Video Solution

54. Antibiotic are drugs commonly used to cure diseases of


https://dl.doubtnut.com/l/_5rvf7jk9qqUo
https://dl.doubtnut.com/l/_0CSAoEAjjWYH
https://dl.doubtnut.com/l/_Lv9zq9XM7je7

A. Fungi

B. Viruses

C. Protozoans

D. Bacteria

Answer: D

o Watch Video Solution

55.1n 1928, a scientist an antibiotic which was found to be
very effective. The name of the scientist and the antibiotic
respectively are:

A. Fleming - Streptomycin

B. Fleming - Penicillin


https://dl.doubtnut.com/l/_Lv9zq9XM7je7
https://dl.doubtnut.com/l/_oUWgqplxvFgh

C. Waksman - Penicillin

D. Waksman - Streptomycin

Answer: B

° Watch Video Solution

56. Which is false about antibiotics ?

A. The term was coined by Waksman in 1942

B. Antibiotics are capable of curing any disease

C. Some persons develop allergy to antibiotics

D. Antibiotics are produced by microorganisms.

Answer: B


https://dl.doubtnut.com/l/_oUWgqplxvFgh
https://dl.doubtnut.com/l/_YDIX4pIY4Zbd

o Watch Video Solution

57. A fern commonly inoculated to paddy fields is

A. Azolla

B. Marsilea

C. Salvinia

D. Anabaena

Answer: A

o Watch Video Solution

58.Third generation pesticides are


https://dl.doubtnut.com/l/_YDIX4pIY4Zbd
https://dl.doubtnut.com/l/_YWchPbN7aWIe
https://dl.doubtnut.com/l/_v6oodDe5r7Uc

A. Pheromone

B. Weedicide

C. Juvenile hormone analogue

D. Sterilogastrone

Answer: C

o Watch Video Solution

59. Which one is a biofertiliser ?

A. NPK mixture

B. Rhizobia in legume roots

C. Rhizobia in farmyard manure


https://dl.doubtnut.com/l/_v6oodDe5r7Uc
https://dl.doubtnut.com/l/_wSddGLzCgqFj

D. Green manure

Answer: B

o Watch Video Solution

60. Assertion : Leguminous plants are best preferred for

rotation of crops. Reason : They have root nodules which

possess nitrogen fixing bacterium Clostridium

A.if both are true with reason being correct

explanation

B. both are true but reason is not correct explanation

C. assertion is true but reason is wrong

D. both are wrong


https://dl.doubtnut.com/l/_wSddGLzCgqFj
https://dl.doubtnut.com/l/_YJv7BxDhL0Dp

Answer: C

o Watch Video Solution

61. VAM is important for

A. Breaking of dormancy

B. Phosphate nutrition

C. Water uptake

D. Retarding flowering

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YJv7BxDhL0Dp
https://dl.doubtnut.com/l/_ThyDlIsMMR2a
https://dl.doubtnut.com/l/_3h65EYnBOeTU

62. Leghaemoglobin takes part in

A. Energy release

B. Stimulating growth of Rhizobium

C. N, absorption

D. Protecting nitrogenase from O,

Answer: D

° Watch Video Solution

63. Brown Plant Hopper is

A. Nilparvata lugens

B. Calliphora erythrophala


https://dl.doubtnut.com/l/_3h65EYnBOeTU
https://dl.doubtnut.com/l/_fGsZ958VgmDP

C. Helizoverpa armigera

D. Schistocerea gregaria

Answer: A

° Watch Video Solution

64. An organism used as biofertilizer for raising soyabean
crop is
Or
Most famous nitrogen fixing bacterium/biofertilizer is
A. Nitrobacter

B. Nitrosomonas

C. Nitrococcus


https://dl.doubtnut.com/l/_fGsZ958VgmDP
https://dl.doubtnut.com/l/_qgKRQDDmpQWC

D. Rhizobium

Answer: D

o Watch Video Solution

65. Which one is a biofertiliser ?

A. NPK mixture

B. Rhizobia in legume roots

C. Rhizobia in farmyard manure

D. Green manure

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qgKRQDDmpQWC
https://dl.doubtnut.com/l/_EnMtxidq1AQj

66. Azolla enriches rice fields with nitrogen due to its
association with

Or

A free living nitrogen fixing cyanobacterium which can also

form symbiotic association with the water fern Azolla is

A. Anobaena

B. Nostoc

C. Azospirillum

D. Rhizobium

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_EnMtxidq1AQj
https://dl.doubtnut.com/l/_26JuA4BQ2OpB

67. Azolla is used as biofertilizer as it has

A. Rhizobium

B. Cyanobacteria

C. Mycorrhiza

D. Large quantity of humus

Answer: B

o Watch Video Solution

68. Devine and Collego are two trade names for

A. Bioherbicides


https://dl.doubtnut.com/l/_gysTBsfEuyfW
https://dl.doubtnut.com/l/_y12gg0tc563g

B. Bioinsecticides

C. Biofungicide

D. Natural insecticides

Answer: A

o Watch Video Solution

69. Cow dung is appropriately used as

A. Manure

B. Fuel

C. Medicine

D. Building material


https://dl.doubtnut.com/l/_y12gg0tc563g
https://dl.doubtnut.com/l/_EpKMCNHYhZQi

Answer: A

o Watch Video Solution

70. Confusion technique uses

A. Juvenile hormone

B. Ecdysone

C. Pheromone

D. A combination of hormones

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_EpKMCNHYhZQi
https://dl.doubtnut.com/l/_BVna7tkqenOL
https://dl.doubtnut.com/l/_si5khc7QbQDw

71. Red pigment (Leghaemoglobin) having affinity for

oxygen is present in the roots of

A. Mustard

B. Soyabean

C. Carrot

D. Radish

Answer: B

o Watch Video Solution

72.The enzyme responsible for the reduction of molecular
nitrogen to the level of amonia in leguminous root nodule

is


https://dl.doubtnut.com/l/_si5khc7QbQDw
https://dl.doubtnut.com/l/_FGQgm2ex2z2P

Or

The enzyme reponsible for atmospheric nitrogen fixation is

A. Nitrogenase

B. Nitroreductase

C. Transaminase

D. Transferase

Answer: A

° Watch Video Solution

73. Fermentation ability of Yeast is due to

A. Amylase


https://dl.doubtnut.com/l/_FGQgm2ex2z2P
https://dl.doubtnut.com/l/_MIcVpbC8nSdx

B. Galactase

C. Zymase

D. Invertase

Answer: C

o Watch Video Solution

74. Match the column

Column 1 Column IT
a Neomycin p Streptomyces fradiae
b  Terramycin q Penicillium notatum
¢ Viridin r Streptomyces rinosus
d Penicillin s Gliocladium virens
A. a-r, b-p, c-s, d-q

B. a-p, b-r, c-s, d-q


https://dl.doubtnut.com/l/_MIcVpbC8nSdx
https://dl.doubtnut.com/l/_abIoCCJmFF4f

C. a-r, b-r,c-p,d-q

D. a-s, b-p, c-r, d-r

Answer: B

° Watch Video Solution

75.Broad spectrum antibiotic is that which

A. Pathogens as well as hosts

B. Awide range of pathogens

C.Only a pathogen

D. Only host

Answer: B


https://dl.doubtnut.com/l/_abIoCCJmFF4f
https://dl.doubtnut.com/l/_Chj9ackehSve

o Watch Video Solution

76. Streptomyces fradiae produces:

A. Aureomycin

B. Terramycin

C. Neomycin

D. Erythromycin

Answer: C

o Watch Video Solution

77. Commonly used in alcohol industry is


https://dl.doubtnut.com/l/_Chj9ackehSve
https://dl.doubtnut.com/l/_FGlKRwrdvqrR
https://dl.doubtnut.com/l/_HrHwp5S9kffQ

A. Penicillium

B. Saccharomyces

C. Rhizopus

D. Puccinia

Answer: B

o Watch Video Solution

78. In manufacture of bread, it becomes porous due to

release of CO, by the action of

A. Protozoans

B. Bacteria


https://dl.doubtnut.com/l/_HrHwp5S9kffQ
https://dl.doubtnut.com/l/_5Kv5XZhwArRS

C. Yeast

D. Viruses

Answer: C

° Watch Video Solution

79. Which of the following is free-living aerobic non-

photosynthetic nitrogen fixing bacterium

A. Azotobacter

B. Anabaena azollae

C. Pseudomonas

D. Cyanobacterium


https://dl.doubtnut.com/l/_5Kv5XZhwArRS
https://dl.doubtnut.com/l/_3hoZoAUV0Ch1

Answer: A

o Watch Video Solution

80. Pyrethrin is extracted from

A. Azadinachta indica

B. Chrysanthernum cinerarifolirum

C. Urtica dioca

D. Tagetus erecta

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3hoZoAUV0Ch1
https://dl.doubtnut.com/l/_wFuL4Bq9Ons2
https://dl.doubtnut.com/l/_pWsxt0lZkOlK

81. Which one is green manure/biofertilizer

A. Sesbania

B. Maize

C.Rice

D. Oat

Answer: A

° Watch Video Solution

82. Some blue green algae can be used as biofertilizer as

they are

A. Photosynthetic


https://dl.doubtnut.com/l/_pWsxt0lZkOlK
https://dl.doubtnut.com/l/_G7fhWw40y3cC

B. Surrounded by mucilage

C. Growing every where

D. Capable of fixing nitrogen

Answer: D

o Watch Video Solution

83. Biofertilisers include

A. Nitrogen fixing bacteria

B. Mycorrhiza

C. Nitrogen fixing cyanobacteria

D. All the above


https://dl.doubtnut.com/l/_G7fhWw40y3cC
https://dl.doubtnut.com/l/_HNYGAJGXWgT9

Answer: D

o Watch Video Solution

84. Mycorrhiza works as

A. Mechanical tissue

B. Root hair in adverse condition

C. Modified root

D. Organ for vegetative propagation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HNYGAJGXWgT9
https://dl.doubtnut.com/l/_zXx6vJQ4Qbje
https://dl.doubtnut.com/l/_g3vgJSEMShmI

85. Which one of the following is useful in Rice fields

A. Rhizobium

B. Clostridium

C. Anabaena

D. Ferrobacterium

Answer: C

° Watch Video Solution

86. Mycorrhiza is used in

A. Obtaining nutrients from soil

B. Synthesis of food


https://dl.doubtnut.com/l/_g3vgJSEMShmI
https://dl.doubtnut.com/l/_oFqJmZDRjkqE

C. Increasing soil fertility

D. Providing resistance against different regulators.

Answer: A

° Watch Video Solution

87. Plant having nitrogen fixing bacteria is

A. Cotton

B. Wheat

C. Gram

D. Mustard

Answer: C


https://dl.doubtnut.com/l/_oFqJmZDRjkqE
https://dl.doubtnut.com/l/_PA3agBXiKkUK

o Watch Video Solution

88. Organic farming is raising crops through use of

A. Biofertilisers

B. Manures

C. Resistant varieties

D. All the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PA3agBXiKkUK
https://dl.doubtnut.com/l/_cnsjKG7jcd88

89. Ethanol is produced from starch as a raw material by

the activity of

A. Yeast

B. Protozoa

C. Virus

D. Rickettsia

Answer: A

o Watch Video Solution

90. Organic farming does not include

A. Green manures


https://dl.doubtnut.com/l/_xnumag74MSa0
https://dl.doubtnut.com/l/_HBoKMyDXuvu9

B. Chemical fertilizer

C. Crop rotation

D. Compost and farmyard manures

Answer: B

o Watch Video Solution

91. Mycorrhiza is helpful in

A. Synthesis of food
B. Getting nutrients from soil

C. Providing resistance against different regulators

D. Increase the fertility of soil


https://dl.doubtnut.com/l/_HBoKMyDXuvu9
https://dl.doubtnut.com/l/_ZX4Q9TKDw174

Answer: B

o Watch Video Solution

92. Which one is a neem product used as insect repellent

A. Rotenone

B. Azadirachtin

C. Parathion

D. Endrin

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZX4Q9TKDw174
https://dl.doubtnut.com/l/_eMnSdUwBvNq1
https://dl.doubtnut.com/l/_yoskhdoKVBiQ

93. Insecticide pyrethrum is prepared from

A. Vetiveria

B. Chrysanthemum

C. Tephrosia

D. Cymbopogon

Answer: B

° Watch Video Solution

94. Which of the following is used as green manure ?

A. Crotalaria juncea

B. Azolla


https://dl.doubtnut.com/l/_yoskhdoKVBiQ
https://dl.doubtnut.com/l/_N2xPQhb8x8oA

C. Hevea braziliensis

D. Azadirachta juncea

Answer: A

° Watch Video Solution

95. The first antibiotic was discovered by

A. R. Koch

B. Louis Pasteur

C. A. Fleming

D. W. Flemming

Answer: C


https://dl.doubtnut.com/l/_N2xPQhb8x8oA
https://dl.doubtnut.com/l/_VvBGlNtVDq5G

o Watch Video Solution

96. Supply of oxygen to the biogas plant will have

A. Positive effect

B. Negative effect

C. No effect

D. None of these

Answer: B

o Watch Video Solution

97. Pasteurisation is


https://dl.doubtnut.com/l/_VvBGlNtVDq5G
https://dl.doubtnut.com/l/_IaPX2N1S3B8Y
https://dl.doubtnut.com/l/_3hFUvRSzYhxk

A. Heating of liquid at 65° C'

B. Heating of liquid between 65° — 80° C' followed by

rapid cooling

C. Heating of solids at 65° C'

D. None of these

Answer: B

° Watch Video Solution

98. Which raw material is used in fermantation process of

making beer

A. Starch in vegetables


https://dl.doubtnut.com/l/_3hFUvRSzYhxk
https://dl.doubtnut.com/l/_ng2LvcioSFHg

B. Strach in cereals

C.Sugar in fruits

D. Protein in pulses

Answer: B

o Watch Video Solution

99. Which of the folliowing statements is not trur for

stirred tank fermentation

A. Buffer needed to control

B. Buffer and feed possible

C. Control dissolved oxygen


https://dl.doubtnut.com/l/_ng2LvcioSFHg
https://dl.doubtnut.com/l/_MLoZMuqwxAUP

D. Easy in process sampling

Answer: C

° Watch Video Solution

100. Baker's yeast is :

A. S. cerevisae

B. S. ludwingii

C.S. octosporus

D. Schizosaccharomyces

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_MLoZMuqwxAUP
https://dl.doubtnut.com/l/_msZJ04Ng9v7E

101. Which one of the following combinations of organisms

are responsible for the formation and flavour of yoghurt gt

A. Bacillus megathermus and Xanthomonas sp.

B. Bacillus subtilis and E. coli.

C. Rhizobium meliloti and Azobacter

D. Lactobacillus casei and Streptococcus thermophilus

Answer: D

° Watch Video Solution

102. Which are used as green manure


https://dl.doubtnut.com/l/_msZJ04Ng9v7E
https://dl.doubtnut.com/l/_ijuo0MI5eL6Z
https://dl.doubtnut.com/l/_PPyxyAR9brVH

A. Melilotus parviflora

B. Lens esculenta

C. Crotalaria juncea

D. All the above

Answer: D

o Watch Video Solution

103. Which one is used for preparation of bread?

A. Lactobacillus

B. Streptobacillus

C. Aspergillus


https://dl.doubtnut.com/l/_PPyxyAR9brVH
https://dl.doubtnut.com/l/_8FmvCpyNOha9

D. S. cerevisiae

Answer: D

o Watch Video Solution

104. An enzyme that can stimulate germination of barley

seeds is

A. Invertase

B. a-amylase

C. Lipase

D. Protease

Answer: B



https://dl.doubtnut.com/l/_8FmvCpyNOha9
https://dl.doubtnut.com/l/_5L5T6PIF9bGR

l o Watch Video Solution

105. Single cell proteins are

A. Microorganisms

B. Enzymes

C. Antibiotics

D. Toxins

Answer: A

o Watch Video Solution

106. Probiotics are


https://dl.doubtnut.com/l/_5L5T6PIF9bGR
https://dl.doubtnut.com/l/_w3a1StDxMHTH
https://dl.doubtnut.com/l/_ONI3pXTj4EOP

A. Live microbial food supplement

B. Cancer inducing microbes

C. New kind of food allergens

D. Safe antibiotics

Answer: A

° Watch Video Solution

107. Which one of the following pairs is wrongly matched

A. Yeast - Ethanol

B. Streptomyces - Antibiotics

C. Coliforms - Vinegar


https://dl.doubtnut.com/l/_ONI3pXTj4EOP
https://dl.doubtnut.com/l/_0iMHzx1HoREe

D. Methanogens - Gobar gas

Answer: C

o Watch Video Solution

108. Find out the pairs which are correctly matched

a. Cyanobacteria 1. Biopesticide
b. Mycorrhiza 2. Solubilisation of phosphate
c. Bacillus thuringiensis 3. Cry protein
d. single cell protein 4. Rhizobia
A.aand b
B.bandc
C.candd

D.aandd


https://dl.doubtnut.com/l/_0iMHzx1HoREe
https://dl.doubtnut.com/l/_tbXavqh1VpHt

Answer: B

o Watch Video Solution

109. An organic fertilizer which improves phosphorus

uptake is

A. Actinomycete fungi

B. Rhizobium

C. Azospirillum

D. Azotobacter

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tbXavqh1VpHt
https://dl.doubtnut.com/l/_xLRlPAtHQ1HE

110. The chemical produced by the host plant to protect

themselves against fungal infection is

A. Protoxins

B. Phytoalexins

C. Prolectins

D. All the above

Answer: B

o Watch Video Solution

111. Most potential organisms for production of insecticide

is


https://dl.doubtnut.com/l/_KBQlnH1deMFb
https://dl.doubtnut.com/l/_FKFtscUw1095

A. Bacillus thuringiensis

B. Xanthomonas oryzae

C. Helianthus annuus

D. Eramins tillaria

Answer: A

o Watch Video Solution

112. Bt toxin is got from a

A. Eukaryote

B. Prokaryote

C. Virus


https://dl.doubtnut.com/l/_FKFtscUw1095
https://dl.doubtnut.com/l/_SCJZHwFlaz6J

D. All the above

Answer: B

o Watch Video Solution

113. Which of the following weed should be eradicated

quickly ?

A. Opuntia

B. Eichhornia

C. Parthenium

D. Vallisneria

Answer: C



https://dl.doubtnut.com/l/_SCJZHwFlaz6J
https://dl.doubtnut.com/l/_rOTko8lMAPCJ

l o Watch Video Solution

114. Assertion : Nitrogen fixing enzyme in legume root

nodules function at low oxygen concentration.

Reason : Low oxygen concentration is provided by

leghaemoglobin.

A.if both are true with reason being correct

explanation

B. both are true but reason is not correct explanation

C. assertion is true but reason is wrong

D. both are wrong

Answer: A

. Y


https://dl.doubtnut.com/l/_rOTko8lMAPCJ
https://dl.doubtnut.com/l/_lalEdt0RCmm3

{ " vvaldi viaco o>01utiornl )|

15. A red pigment present in the root nodules of

leguminous plants is known as

A. Carotene

B. Leghaemoglobin

C. Haemoglobin

D. Xanthophyll

Answer: B

o Watch Video Solution

116. Vermicompost is brofertilizer rich in


https://dl.doubtnut.com/l/_lalEdt0RCmm3
https://dl.doubtnut.com/l/_0Pidom8PhcnX
https://dl.doubtnut.com/l/_zTXYkAovli8C

A. Phosphorus

B. Calcium

C. Nitrogen

D. All the above

Answer: D

o Watch Video Solution

117.1t is not benefit of vermicompost

A. Protection of water bodies from pollution

B. Reduction in microbial activity

C. Increased availability of minerals


https://dl.doubtnut.com/l/_zTXYkAovli8C
https://dl.doubtnut.com/l/_gw29p9oALqDw

D. Increased hydration and aeration

Answer: B

o Watch Video Solution

118. A free-living nitrogen-fixing cyanobacterium which can

also form symbiotic association with the water fern Azolla

IS :

A. Anabaena

B. Nostoc

C. Chlorella

D. Tolypothrix


https://dl.doubtnut.com/l/_gw29p9oALqDw
https://dl.doubtnut.com/l/_0hNKTcIonCmD

Answer: A

o Watch Video Solution

119. Which one is a symbiotic nitrogen fixing plant ?

A. Pinus

B. Azolla

C. Marchanlia

D. Moss

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_0hNKTcIonCmD
https://dl.doubtnut.com/l/_QgXX8FqrfaLS
https://dl.doubtnut.com/l/_eai20eDb6a2m

120. Which one of the following bacterium is used

extensively as biopesticide?

A. Bacillus subtilis

B. Streptococcus lactis

C. Bacillus thuringenesis

D. Lactobacillus acidophilus

Answer: C

o Watch Video Solution

121. Which proves to be effective biological control for

nematodal pathogens of plants?


https://dl.doubtnut.com/l/_eai20eDb6a2m
https://dl.doubtnut.com/l/_vF7udgJDL0nO

A. Pseudomonas cepacia

B. Pisolithus tinctorius

C. Gliocladium virens

D. Paecilomyces lilacinus

Answer: D

o Watch Video Solution

122. Trichoderma harizianum has proved to be a useful

microorganism for

A. Gene transfer in higher plants


https://dl.doubtnut.com/l/_vF7udgJDL0nO
https://dl.doubtnut.com/l/_QcM6FtdCNTgE

B. Biological control of soil borne

pathogens/biopesticide

C. Bioremediation of contaminated soils

D. Reclamation of waste land

Answer: B

° Watch Video Solution

123. Which is linked to discovery of Bordeaux mixture as

fungicide ?

A. Downy mildew of Grapes

B. Loose smut of Wheat


https://dl.doubtnut.com/l/_QcM6FtdCNTgE
https://dl.doubtnut.com/l/_cNvE2tSUoMyj

C. Black rust of Wheat

D. Bacterial leaf blight of Rice

Answer: A

° Watch Video Solution

124. Which is maitained for optimum production of vinegar

A. Anaerobic condition

B. Temperature at 65degreecelsius’

C. Aerobic conditions

D. Microaerophilic condition

Answer: C



https://dl.doubtnut.com/l/_cNvE2tSUoMyj
https://dl.doubtnut.com/l/_68HOKXcLT4Rm

o Watch Video Solution

125. The antibiotic inhibiting cell wall formation in bacterial

cell is

A. Clavicin

B. Pencillin

C. Ergotine

D. None of the above

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_68HOKXcLT4Rm
https://dl.doubtnut.com/l/_lYqLJVJ5rIw8

126. Modern detergents contain enzyme preparations of

A. Thermoacidophiles

B. Thermophiles

C. Acidophiles

D. Alkaliphiles

Answer: D

o Watch Video Solution

127. Substrate for alcohol formation is :

A. Sucrose


https://dl.doubtnut.com/l/_9NQ48NeLU8Uv
https://dl.doubtnut.com/l/_zDg6KU8jP4l5

B. Galactose

C. Maize

D. Bajra

Answer: A

o Watch Video Solution

128. A sewage treatement process in which a part of

decomposer bacteria present in the wasts is recycled into

the starting of the process is called as

A. Cyclic treatment

B. Primary treatment

C. Tertiary treatment


https://dl.doubtnut.com/l/_zDg6KU8jP4l5
https://dl.doubtnut.com/l/_CQIChociAnaJ

D. Activated sludge treatment

Answer: D

o Watch Video Solution

129. Lactic acid bateria convert milk into curd an improves

its nutritional quality by enhancing vitamin :

AA

B.B

C.C

D.D

Answer: B



https://dl.doubtnut.com/l/_CQIChociAnaJ
https://dl.doubtnut.com/l/_CEq54L76yDZt

l o Watch Video Solution

130. The fungus used for the commerical production of SCP

is

A. Brassica napus

B. Pentadiplandra brazzeana

C. Fusarium graminearum

D. Bacillus thuringiensis

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CEq54L76yDZt
https://dl.doubtnut.com/l/_IguIMkkYtWJI

131. Highest number of antibiotics are produced by

A. Bacillus

B. Penicillium

C. Streptomyces

D. Cephalosporium

Answer: A

o Watch Video Solution

132. T’; plasmic used for making transgenic plants belongs

to

A. Clostridium


https://dl.doubtnut.com/l/_rgW0LFvGboKW
https://dl.doubtnut.com/l/_ffLORuejUSKF

B. Saccharomyces

C. Agrobacterium

D. Escherichia

Answer: C

o Watch Video Solution

133.Single cell proteins are

A. Proteins synthesised by skin cell

B. A protein synthesised by liver cell

C. Protein synthesised by microorganisms

D. A protein synthesised by muscle cell


https://dl.doubtnut.com/l/_ffLORuejUSKF
https://dl.doubtnut.com/l/_XgwDX6uFN38F

Answer: C

o Watch Video Solution

134. Which one of the following pairs is wrongly matched

A. Detergents - lipase

B. Alcohol - nitrogenase

C. Textile - amylase

D. Fruit juice - pectinase

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XgwDX6uFN38F
https://dl.doubtnut.com/l/_Y3E5e3gSjx5z
https://dl.doubtnut.com/l/_LoxlMkJcAd1z

135. Which of the following can be controlled by using

biopesticides ?

A. Insects

B. Diseases

C. Weeds

D. All the above

Answer: D

o Watch Video Solution

136. Worm castings are rich in

A. Nitrogen


https://dl.doubtnut.com/l/_LoxlMkJcAd1z
https://dl.doubtnut.com/l/_KammDp3csj5m

B. Phosphorus

C. Calcium

D. All the above

Answer: D

o Watch Video Solution

137. Which of the following is not used as a biopesticide ?

A. Xanthomonas compesters

B. Bacillus thuringiensis

C. Trichoderma harzianum

D. Nucleo polyhedro virus


https://dl.doubtnut.com/l/_KammDp3csj5m
https://dl.doubtnut.com/l/_sa590apnkFNu

Answer: A

o Watch Video Solution

138. Bacillus thuringiensis is used to control

A. Insect pests

B. Nematodes

C. Bacterial pathogens

D. Fungal pathogens

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_sa590apnkFNu
https://dl.doubtnut.com/l/_fCqDSIxOTgNo
https://dl.doubtnut.com/l/_nsx7efGxjzzz

139. pH of vermiculture is kept at

A. Neutral

B. Alkaline

C. Acidic

D. Highly alkaline

Answer: A

° Watch Video Solution

140. Bacillus thuringiensis is used as

A. Fungicide

B. Biopesticide


https://dl.doubtnut.com/l/_nsx7efGxjzzz
https://dl.doubtnut.com/l/_i6eMKcbatjSV

C. Insecticide

D. Weedicide

Answer: B

° Watch Video Solution

141. Leguminous plants are able to fix atmospheric
nitrogen through the process of symbiotic nitrogen
fixation. Which one of the following statements is not

correct for this process of nitrogen fixation ?

A. Leghaemoglobin scavanges oxygen and is pinkish in

colour

B. Nitrogenase is insensitive to oxygen


https://dl.doubtnut.com/l/_i6eMKcbatjSV
https://dl.doubtnut.com/l/_lVKZMSNFK5Op

C. Nodules act as sites for nitrogen fixation

D. The enzyme nitrogenase catalyse to conversion of

atmospheric nitrogen to ammonia

Answer: B

o Watch Video Solution

142. An example of endomycorrhiza is

A. Glomus

B. Agaricus

C. Nostoc

D. Rhizobium


https://dl.doubtnut.com/l/_lVKZMSNFK5Op
https://dl.doubtnut.com/l/_KT3GmcWEuOLU

Answer: A

o Watch Video Solution

143. Which one of the following is not used in organic

farmina

A. Earthworm

B. Oscillatoria

C. Snail

D. Glomus

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KT3GmcWEuOLU
https://dl.doubtnut.com/l/_B6UdDCC6idxU

144. A common biocontrol agent for the control of plant

diseases is

A. Bacillus thuringiensis

B. Glomus

C. Trichoderma

D. Baculovirus

Answer: C

o Watch Video Solution

145. During lactic acid fermentation,..................

A. O, is used, C'O, is liberated


https://dl.doubtnut.com/l/_ikKv793MXA2o
https://dl.doubtnut.com/l/_DGrKYsCDR6kX

B. Neither O, is used for nor C'O, liberated

C. O, is not used, C'O, is liberated

D. O, is used, CO, is not liberated

Answer: B

o Watch Video Solution

146. Gray biotechnology' is referred to :

A. Industrial process

B. Medical process

C. Agricultural process

D. Aquatic process


https://dl.doubtnut.com/l/_DGrKYsCDR6kX
https://dl.doubtnut.com/l/_7MepDGS1iS3L

Answer: A

° Watch Video Solution

147. The product of which of the following organsims has

been commercialised as blood cholesterol lowering agent:

A. Trichoderma polysperma

B. Monascus purpureus

C. Saccharomyces cerevisiae

D. Aspergillus niger

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7MepDGS1iS3L
https://dl.doubtnut.com/l/_IbSaffkhF0bs

148. Match the column and choose the correct option

Column [ Column 11

() Asperpillis niper (ay Fthanol

(ey  Clostridium (b) Stiutins
butylicim

(ri1) Saccharomyces (¢c) Citric acid
CereuLsLae

(tv)  Trichoderma (d) Butyric acid
polysporum

(v)  Monascus purpureus (e) Cyclosporin A

A. i-d, ii-c, iii-b, iv-a, v-c
B. i-e, ii-d, iii-a, iv-b, v-C
C. i, ii-d, iii-a, iv-e, v-b

D. i-c, ii-d, iii-e, iv-a, v-b

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_e3yhao4wXhyh

149. Which of the following is source of single cell protein

A. Bacillus thuringiensis

B. Azospirillum

C. Sachharomyces cerevisiae

D. Methylophilus methylotrophus

Answer: D

o Watch Video Solution

150. Lactobacillus mediated conversion of milk to curd

results because of:

A. Coagulation and partial digestion of milk fats


https://dl.doubtnut.com/l/_P8f88gwFIdxn
https://dl.doubtnut.com/l/_lRVl39uF6yhB

B. Coagulation and partial digestion of milk proteins

C. Coagulation of milk proteins and complete digestion

of milk fats

D. Coagulation of milk fats and complete digestion of

proteins

Answer: B

o Watch Video Solution

151.Single cell protein refers to

A. Specific protein extracted from pure culture of single

tye of cells


https://dl.doubtnut.com/l/_lRVl39uF6yhB
https://dl.doubtnut.com/l/_HPio5AOpMTdw

B. Sources of mixed proteins extracted from pure or

mixed culture of organisms or cells

C. Proteins extracted from a single cell

D. A specific protein extracted from a single cell

Answer: B

o Watch Video Solution

152. Select the correct statement from the following

A. Methanobacterium is an aerobic bacterium found in

rumen of cattle

B. Biogas commonly called gobar gas is pure methane


https://dl.doubtnut.com/l/_HPio5AOpMTdw
https://dl.doubtnut.com/l/_ZjiPhz4QPwbV

C.Activated sludge sediment in settling tanks of

sewage treatment plant is rich source of aerobic

bacteria

D. Biogas is produced by the activity of aerobic bacteria

on animal waste.

Answer: C

o Watch Video Solution

153. Mode of action of Novobiocin is

A. Induces abnormal protein synthesis

B. Inhibits DNA polymerisation


https://dl.doubtnut.com/l/_ZjiPhz4QPwbV
https://dl.doubtnut.com/l/_Oe7rKzN5mEuU

C. Interferes with protein synthesis

D. Inhibits cell wall synthesis

Answer: B

o Watch Video Solution

154. A Bioenergy source obtained by fermentation to

supplement fossil fuel petrol is

A. Butanol

B. Methanol

C. Ethanol

D. Propanol


https://dl.doubtnut.com/l/_Oe7rKzN5mEuU
https://dl.doubtnut.com/l/_cGZSdNeeWUVL

Answer: C

o Watch Video Solution

155. The large holes in 'Swiss cheese' are because of

A. Propionibacterium sharmanii

B. Saccharomyces cerevisiae

C. Trichoderma polysporum

D. Clostridium butyricum

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cGZSdNeeWUVL
https://dl.doubtnut.com/l/_aVGOBxvMSCKm
https://dl.doubtnut.com/l/_tgTc6iQ3M1Cg

156. One of the alternate sources of proteins for animal

and human nutrition is:

A.Single cell protein

B. Nonvegetarian meal

C. Mushrooms

D. Pulses

Answer: A

o Watch Video Solution

157. Which among these are production by distillation of
fermented broth?

(i) Whisky (ii) Wine


https://dl.doubtnut.com/l/_tgTc6iQ3M1Cg
https://dl.doubtnut.com/l/_lypOsvD1FIu7

(iii) Beer (iv) Rum

(v) Brandy

A.b and c alone

B.a and b alone

C.a,d and e alone

D.c and d alone

Answer: C

° Watch Video Solution

158. Flemming, Chain and Florey were awarded the Nobel

Prize in 1945 for the discovery of

A. HIV


https://dl.doubtnut.com/l/_lypOsvD1FIu7
https://dl.doubtnut.com/l/_bggsazlSKBVT

B. CT scan

C. Penicillium

D. Staphylococcus

Answer: C

o Watch Video Solution

159. Which of the following is mainly produced by the

activity of anaerobic bacteria on sewage

A. Laughing gas

B. Marsh gas

C. Mustard gas


https://dl.doubtnut.com/l/_bggsazlSKBVT
https://dl.doubtnut.com/l/_1Vw16urT1U2m

D. Propane

Answer: B

o Watch Video Solution

160. Secondary sewage treatment is mainly a

A. Chemical process

B. Mechanical process

C. Biological process

D. Physical process

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1Vw16urT1U2m
https://dl.doubtnut.com/l/_bRZoWmmt0atm

161. Continous addition of sugars in 'fed batch'

fermentation is done to

A. Purify enzymes

B. Degrade sewage

C. Produce methane

D. Obtain antibiotics

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_bRZoWmmt0atm
https://dl.doubtnut.com/l/_2lKoAhQTeSfS

162. Which one of the following is a wrong matching of a

microbe and its industrial product, while the remaining

three are correct,

A. Yeast - statins

B. Acetobacter aceti - Acetic acid

C. Aspergillus niger - Citric acid

D. Clostridium butyricum - Lactic acid

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nKNhdVPK1WFr

163. A peculiar odour found in marshy areas and cow sheds

is of gas produced by

A. Cyanobacteria

B. Archaebacteria

C. Mycoplasma

D. Slime Moulds

Answer: B

o Watch Video Solution

164. Which of the following pesticides is an acetyl

cholinestrase inhibitor


https://dl.doubtnut.com/l/_b8QRWQP6LbMX
https://dl.doubtnut.com/l/_Sixmv77AGDMc

A.DDT

B. Deltamethrin

C. Malathion

D. Permethrin

Answer: C

o Watch Video Solution

165. Organic manure formed by Earthworm is

A. Worm casting

B. Urea

C. Ammonia


https://dl.doubtnut.com/l/_Sixmv77AGDMc
https://dl.doubtnut.com/l/_M3Pjtq5r2vHu

D. Vermiculture

Answer: A

o Watch Video Solution

166. They help in increasing soil fertility

A. Pseudomonas and cereals

B. Bacillus and Penicillium

C. Salvinia and legumes

D. Nostoc and legumes

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_M3Pjtq5r2vHu
https://dl.doubtnut.com/l/_oco4LPnfndyw

167. Which is a fungicide

A.DDT

B. Bordeaux mixture

C.24-D

D. DCMU

Answer: B

o Watch Video Solution

168. The process of increasing fertility of soil by

Earthworms is


https://dl.doubtnut.com/l/_oco4LPnfndyw
https://dl.doubtnut.com/l/_w4qaRlATocgO
https://dl.doubtnut.com/l/_BIviXsg1JYNz

A.Worm casting

B. Vermicomposting

C. Compost bedding

D. None of the above

Answer: B

o Watch Video Solution

169. The majority of Baculoviruses are used as biological

control agents as

A. They are species-specific

B. They have no negative impact on nontargets


https://dl.doubtnut.com/l/_BIviXsg1JYNz
https://dl.doubtnut.com/l/_mo63tM6BJVrG

C. Beneficial insects are being conserved

D. All the above

Answer: D

o Watch Video Solution

170. Which one among the following components of

vermicompost contains plant growth factors

A. Microbes

B. Humic acid

C. Nitrogen

D. Phosphorus


https://dl.doubtnut.com/l/_mo63tM6BJVrG
https://dl.doubtnut.com/l/_JwBaOLlGc6HC

Answer: B

o Watch Video Solution

171. Vermicompost is ecofreindly because

A. Earthworms  consume less  and produce

vermicompost

B. Earthworms consume left overs and produce

vermicompost

C. Earthworms consume microbes and vermicompost is

microbe free

D. Vermicompost does not alter soil quality unlike

synthetic fertilizers


https://dl.doubtnut.com/l/_JwBaOLlGc6HC
https://dl.doubtnut.com/l/_TRmgLBwJppCB

Answer: D

o Watch Video Solution

172. Which one of the following is not a biofertilizer?

A. Nostoc

B. Mycorrhiza

C. Agrobacterium

D. Rhizobium

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_TRmgLBwJppCB
https://dl.doubtnut.com/l/_SST68wrEXKEw
https://dl.doubtnut.com/l/_hnTN0Y2ZXmVA

173. In paddy fields, biological nitrogen fixation is chiefly

brought about by

A. Cyanobacteria

B. Green algae

C. Mycorrhiza

D. Rhizobium

Answer: A

o Watch Video Solution

174. Which is incorrect about fermentation

A.Toddy is prepared by fermenting palm sap


https://dl.doubtnut.com/l/_hnTN0Y2ZXmVA
https://dl.doubtnut.com/l/_RQ1ZgI5PewdN

B. Propionibacterium is used in fermentation of cheese

C. Pulled up appearance of dough is due to production

of 002

D. Fermentation in muscles produces alcohol.

Answer: D

o Watch Video Solution

175. Which one is correct

A. Activated sludge is digested by anaerobic bacteria to

produce marsh gas

B. Aspergillus niger produces cyclosporin A


https://dl.doubtnut.com/l/_RQ1ZgI5PewdN
https://dl.doubtnut.com/l/_yMZgQa71qVgl

C. Fleming, Chain and Florey were awarded Nobel Prize

for discovering penicillin

D.BOD is amount of oxygen produced by bacteria

during decomposition.

Answer: C

° Watch Video Solution

176. Which one of the following is an example of carrying

out biological control of pests/diseases using microbes

A. Trichoderma against certain plant pathogens

B. Bt cotton to increase cotton yield


https://dl.doubtnut.com/l/_yMZgQa71qVgl
https://dl.doubtnut.com/l/_vlwBO9VZ0E3l

C. Lady bird beetle against aphids in Mustard

D. Nucleopolyhedrovirus against white rust of Brassica

Answer: A

° Watch Video Solution

177. In gobar gas, the maximum amouts is that of
Or
Biogas produced through anaerobic fermentation of
organic material is primarily
A. Propane

B. Methane

C. Butane


https://dl.doubtnut.com/l/_vlwBO9VZ0E3l
https://dl.doubtnut.com/l/_P5rFMxJgG9tk

D. Carbon dioxide

Answer: B

o Watch Video Solution

178. Domestic sewage of large cities

A.Has very high amount of suspended solids and

dissolved salts

B. When treated in sewgae treatment plant does not

require aeration

C.Has high BOD as it contains both aerobic and

anaerobic bacteria


https://dl.doubtnut.com/l/_P5rFMxJgG9tk
https://dl.doubtnut.com/l/_C3SXPKkUByUy

D. Is processed by aerobic and then anaerobic bacteria

in secondary treatment in sewage treatment plant

Answer: D

° Watch Video Solution

179. Conversion of milk to curd improves its nutritional

value of increasing the amount of

A. Vitamin A

B. Vitamin Bg

C.Vitamin By,

D.Both Aand C


https://dl.doubtnut.com/l/_C3SXPKkUByUy
https://dl.doubtnut.com/l/_ArYecJCpp8TC

Answer: C

o Watch Video Solution

180. Which of the following pairs of microbes can be grown

on nutrient media

A.Viruses and single celled algae

B. Protozoa and viroids

C. Bacteria and fungi

D. Prions and yeast

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ArYecJCpp8TC
https://dl.doubtnut.com/l/_QCmk3bEW5k5p

181. During cellulose fermentatin by anaerobic bacteria in

rumen and reticulum, cellulose is majority converted into

A CO,

B. Ethyl alcohol

C. Lactic acid

D. Volatile fatty acids

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_v0steSAnF09y

182. Match the following and find correct option

' 17

(@) Penicillin 1. Glycoprotein
(b) Interferon 2.  Meat tenderiser
4{(*) Polyhedrovirus 3. Antibiotic
(d) Protease 4. Antiseptic
5. Biopesticide

A. a-2, b-4, c-1,d-5

B. a-1, b-2, c-3,d-5

C. a-3, b-1, ¢-5,d-2

D. a-5, b-2, c-4, d-1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8IoB1r15zqxY

183. Identify two correct statements from the following

(i) Rennin is industrially produced by Mucor pusilus

(i) Streptokinase is industrially produced by Pseudomonas
pudica

(i) Alkaline serine protease is produced by Bacillus
licheniformis

(iv) DNA polymerase is produced by Trichoderma reesi
A.iand ii
B.iand iii
C.ii and iii

D.ii and iv

Answer: B

| o Wiak~rhh \NAdAA CAlLiikian



https://dl.doubtnut.com/l/_BZjnQ4coSNed

| € AAK-LAFIEER AL AV ar® lYAL 1.1 0 ] J

184. Microbe used for biocontrol of pest bufferfly

caterpillars is

A. Bacillus thuringiensis

B. Streptococcus species

C. Trichoderma species

D. Saccharomyces cerevisiae

Answer: A

o Watch Video Solution

185. A biofertilizer is


https://dl.doubtnut.com/l/_BZjnQ4coSNed
https://dl.doubtnut.com/l/_lBZmHqlwz4xF
https://dl.doubtnut.com/l/_VaqHVWmA1JxL

A. Cyanobacterium Anabaena in cavities of Azolla leaves

B. Symbiotic associtation of Azotobacter for fixing

atmospheric nitrogen

C. Farmyard manure

D. Green manure

Answer: A

° Watch Video Solution

186. An association between roots of higher plants and

fungi called

A. Moss


https://dl.doubtnut.com/l/_VaqHVWmA1JxL
https://dl.doubtnut.com/l/_NOOjDIdvm4m5

B. Fern

C. Lichen

D. Mycorrhiza

Answer: D

o Watch Video Solution

187. Fungus used in preparing soy sauce is

A. Agaricus

B. Aspergillus

C. Penicillium

D. Saccharomyces


https://dl.doubtnut.com/l/_NOOjDIdvm4m5
https://dl.doubtnut.com/l/_RKyyKKzzDHnf

Answer: B

o Watch Video Solution

188. Which is not a contact poison

A.DDT

B. BHC

C. Endrin

D. Lead arsenate

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RKyyKKzzDHnf
https://dl.doubtnut.com/l/_i5RwLSwlw39Y
https://dl.doubtnut.com/l/_qLAuOJDpAVEB

189. Which is correctly paired

A. Aspergillus niger - Production of lactic acid

B. Trichoderma polysporum- Lowers blood cholesterol

C. Saccharomyces cerevisiae - Production of citric acid

D. Methanogenic bacteria - Gobar gas formation.

Answer: D

o Watch Video Solution

190. Assertion : While working on staphylococci, Alexander
Fleming observed that Penicillium notatum inhibits the
growing of bacteria

Reason : The inhibiting chemical was commercially


https://dl.doubtnut.com/l/_qLAuOJDpAVEB
https://dl.doubtnut.com/l/_kkl2oQvXswuw

extracted and its full potential was established by
Alexander Fleming
A.if both are true with reason being correct
explanation
B. both are true but reason is not correct explanation
C. assertion is true but reason is wrong

D. both are wrong

Answer: C

o Watch Video Solution

191. Assertion : Saccharomyces cerevisiae produces acetic

acid


https://dl.doubtnut.com/l/_kkl2oQvXswuw
https://dl.doubtnut.com/l/_pxhRCVghTY1n

Reason : Trichoderma polysporum produces blood
cholesterol lowering agent
A.if both are true with reason being correct
explanation
B. both are true but reason is not correct explanation
C. assertion is true but reason is wrong

D. both are wrong

Answer: D

o Watch Video Solution

192. Assertion a : Azolla is used as biofertilzer in rice fields

Reason r: Azolla contains nitrogen fixing cyanobacteria in


https://dl.doubtnut.com/l/_pxhRCVghTY1n
https://dl.doubtnut.com/l/_9y9x0NnI0gkm

its root nodules

A.Both a and r true, but r is not correct explanation of

B.ais true but r is false

C.ais false but r is true

D.Both a and r are true and r is correct explanation of a

Answer: B

° Watch Video Solution

193. Which antibiotic is not produced by a moneran

A. Erythromycin


https://dl.doubtnut.com/l/_9y9x0NnI0gkm
https://dl.doubtnut.com/l/_Zoki5Si0HrSV

B. Streptomycin

C. Penicillin

D. Tetramycin

Answer: C

o Watch Video Solution

194. Microbe yielding 'clot buster' for myocardial infarction

is

A. Penicillium notatum

B. Clostridium butylicum

C. Streptomyces species


https://dl.doubtnut.com/l/_Zoki5Si0HrSV
https://dl.doubtnut.com/l/_UFSZIKWOeIFE

D. Azotobacter aceti

Answer: C

o Watch Video Solution

195. Microorganism used for commercial production of

aceti acid is

A. Saccharomyces cerevisiae

B. Acetobacter

C. Aspergillus niger

D. Clostridium butylicum

Answer: B



https://dl.doubtnut.com/l/_UFSZIKWOeIFE
https://dl.doubtnut.com/l/_uzAx8ghIETgL

l o Watch Video Solution

196. Which of the following is true

A. Antibiotics can kill bacteria but disinfectants do not

B. Antibiotics are of microbial origin but disinfectants

are chemical compounds

C. Antibiotics can be injected into patients whereas

disinfectants are not

D.Both B and C

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_uzAx8ghIETgL
https://dl.doubtnut.com/l/_W9i0aFmwqHJr
https://dl.doubtnut.com/l/_kG2ohaGh6568

197. Study the lists and find the correct match

i

P BOD (@) Treatment of sewaye
by KVIC (1)  Measure of orgame matics
in water
() LAB (iii) Biological methods for
controlling plant diseases
() STPS (iv) Increases vitamin B,
(v) Production of biogas

A. a-v, b-iii, c-ii, d-v

B. a-v, b-ii, c-ii, d-i

C. a-ii, b-i, c-iv, d-v

D. a-ii, b-v, c-iv, d-i

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kG2ohaGh6568

198. Roquefort Cheese' is ripened by using

A. Type of Yeast

B. Fungus

C. Bacterium

D. Cyanobacterium

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RK94QXEBrq9v

199. Match the columns and choose the appropriate option

1 11

(@) Citric acid (p) Methanobacterium
(b) Cyclosporin A (g) Monascus purpureus

{(c) Statin (r) Aspergills niger
(d) Gobar gas () Trichoderma polysp-
S orum
(& Clostridium butyl-
- lcum

A. a-r,b-s, c-q,d-p

B. a-t, b-q, c-s, d-r

C.a-q, b-s, c-t, d-r

D. a-r, b-s, c-q, d-t

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RLMpkwKcJmXU
https://dl.doubtnut.com/l/_kTKvyoVu7i2G

200. Flocs' is

A. Primary sludge produced in sewage treatment

B. A type of biofortified food

C.A mesh like structure formed by association of

bacteria and fungal filaments in sewage treatment

D.The effluent in primary treatment tank obtained

during sewage treatment

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kTKvyoVu7i2G

201. Identify the set which has all organisms used in

biological control of pests

A.Trichoderma, Nucleopolyhedro  virus, Bacillus

thuringiensis, Lady Bird (Lady Bug) beetle

B. Dragon flies, Bacillus thuringiensis, Lady Bird, Aphids

C. Lady Bird, Penicillium, Baculovirus, Aspergillus

D. Trichoderma, Aspergillus, Bacillus thuringinesis,

Nucleopolyhedro virus

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_oxh7sLcmevBA

202. The inactive protoxin is activated in the gut of the

insect by :

A. Acidic pH

B. Alkaline pH

C. Low temperature

D. High temperature

Answer: B

o Watch Video Solution

203. Ernest chain and Howared Florey's contribution was

A. Discovery of streptokinase


https://dl.doubtnut.com/l/_b8jpCwIcf65C
https://dl.doubtnut.com/l/_Qwn8kvpyKRMo

B. Establishment of potential of penicillin as effective

drug

C. Discovery of DNA sequences

D. Isolating the bacterial plasmid

Answer: B

o Watch Video Solution

204. Viruses of genus Nucleopolyhedrovirus are employed

as

A. Gobar gas producers

B. Biological control agents


https://dl.doubtnut.com/l/_Qwn8kvpyKRMo
https://dl.doubtnut.com/l/_sphJGZg7R1HC

C. Anaerobic sludge digesters

D. Antibiotics

Answer: B

° Watch Video Solution

205. Select the correct pair of microorganisms and product

obtained

A. Monascus purpureus-produces large holes in swiss

cheese

B. Saccharomyces cerevisiae-used for making wine and

beer after distillation


https://dl.doubtnut.com/l/_sphJGZg7R1HC
https://dl.doubtnut.com/l/_FLcLKKR5XLVc

C. Streptomyces-produces streptokinase which is used

to remove clots

D. Aspergillus niger-produces citric acid and butyric

acid

Answer: C

° Watch Video Solution

206. What is true about Bt toxin?

A. Bt protein exists as active toxin in the Bacillus

B. The activated toxin enters the ovaries of the pest to

streilise it and thus prevent its multiplication


https://dl.doubtnut.com/l/_FLcLKKR5XLVc
https://dl.doubtnut.com/l/_c5axhdU9UtPp

C. The concerned Bacillus has antitoxins

D. The inactive protoxin gets converted into active form

in the insect gut

Answer: D

o Watch Video Solution

207. Which antibiotic has bactericidal effect

A. Erythromycin

B. Penicillin

C. Streptomycin

D. Chloramphenicol


https://dl.doubtnut.com/l/_c5axhdU9UtPp
https://dl.doubtnut.com/l/_1Xm7EtldFerJ

Answer: B

o View Text Solution

208. Wine and beer are produced directly by fermentation

whereas brandy and whisky require both fermentation and

distillation. This is because

A. Fermentation is inhibited at an alcohol level of

10 — 18 %

B. Distillation prolonges storage

C. Distillation improves quality

D. Distillation purifies the beverage

Answer: D


https://dl.doubtnut.com/l/_1Xm7EtldFerJ
https://dl.doubtnut.com/l/_tmJEi7ZNGqFP

o Watch Video Solution

209. Match the following and select the correct matching

o liore, o s .
- ”'“T{"}‘L"}-:“ R Lo NUyoTio e s

Fooy

D Streptomiiem (1) Streptomyoes e o
Coroberramycn (1) Streplomyces venevaaias

(d) Neomycin (iv) Streptomyces griseus

A. a-iii, b-iv, c-ii, d-i

B. a-iii, b-i, c-ii, d-iv

C. aHiii, bii, c-i, d-iv

D. a-iv, b-iii, c-ii, d-i

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_tmJEi7ZNGqFP
https://dl.doubtnut.com/l/_ZDvR20WGy8UZ

210. Which of the following are involved and used for

cheese manufacturing

A. Bacteria and fungi

B. Bacteria and some algae

C. Bacteria and mycoplasma

D. Bacteria and cyanobacteria

Answer: A

o Watch Video Solution

211. Yeast was used in fermentation first of all by

A. Hansen


https://dl.doubtnut.com/l/_sL0xWEEbZpB1
https://dl.doubtnut.com/l/_XlmzONHoCmYJ

B. Pasteur

C. Spike

D. Jackson

Answer: B

o Watch Video Solution

212. Match the columns
(2 Nocckaronvees cerevisiae 1)
Y Monascus purpureus (11)

Y Trichoderma polvsporum (1it)

d) Propionibacterium (tv)
sharmanii

Production of
INMUNOBUPPres=Ive
agents

Ripening of
swiss cheese
Commercial
production of
ethanol

Production of
blood cholesterol
lowering agents



https://dl.doubtnut.com/l/_XlmzONHoCmYJ
https://dl.doubtnut.com/l/_cw03TliF3NIy

A. a-iii, biv, c-i, d-i

B. a-iv, b-iii, c-ii, d-i

C. a-v, b-ii, c-i, d-iii

D. a-iii, b-i, c-iv, d-ii

Answer: A

o Watch Video Solution

213. Which one of the following is NOT a mycoherbicide

A. Phytophthora palmivora

B. Xanthomonas spp

C. Alternaria crassa


https://dl.doubtnut.com/l/_cw03TliF3NIy
https://dl.doubtnut.com/l/_mAaguQmy1Ble

D. Fusarium spp

Answer: B

o Watch Video Solution

214. The microbe Pseudomonas denitrificans produces

Vitamin

A K

B.D

C. B,

D. BlZ

Answer: D



https://dl.doubtnut.com/l/_mAaguQmy1Ble
https://dl.doubtnut.com/l/_UCd3cqVRf8a2

l o Watch Video Solution

215. During Biogas production acetic acid is transformed

into the final product by the enzymes of

A. Clostridium

B. Pseudomonas

C. Penicillium

D. Methanobacillus

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_UCd3cqVRf8a2
https://dl.doubtnut.com/l/_kl9bvf7xRNYl

216. The initial step in preparation of beer is

A. Malting

B. Carboxylation

C. Clarification

D. Distillation

Answer: A

o Watch Video Solution

217. Yeast is used in the production of

A. Cheese and butter


https://dl.doubtnut.com/l/_XrprOOEgYF3E
https://dl.doubtnut.com/l/_GqAwVWfwHyJo

B. Citric and lactic acid

C.Bread and beer

D. Lipase and pectinase

Answer: C

o Watch Video Solution

218. Beer has an alcoholic content of

A3—6%
B.9 —12%
C.40 %

D. 60 %


https://dl.doubtnut.com/l/_GqAwVWfwHyJo
https://dl.doubtnut.com/l/_Suhx0Y8NhaBO

Answer: A

o Watch Video Solution

219. Match the find the correct combination

I3 l'r;me'ntm;c tied (1) Clots in biood
vereide and Gt juices T TI BN
(y ‘!'ll(n;m?lxnn of Larpe (i) Digestion of
holes in Swiss cheese sludge by bacteris
and fung
resulting m
emission of
methane and other
o ases
(¢) Myocardial infarction (i) %roduction of
- ethanol
(d) Biogas

() Blood cholestrol
- lowering agent

() Production of large
amount of CO,,.

A. a-iii, b-v, c-iv, d-ii
B. a-i, b-ii, c-iii, d-iv

C. a-iii, b-v, c-1, d-ii


https://dl.doubtnut.com/l/_Suhx0Y8NhaBO
https://dl.doubtnut.com/l/_qQFXi1SZzCOb

D. a-v, b-iv, c-iii, d-ii

Answer: C

o Watch Video Solution

220. Match the find the correct combination

Satns (1)

o Cyelosporin- A (41)

() Streptokinase  (iii)
(f) lLipase (1v)

A. a-ii, b-iii, ¢, d-iv

B. a-iv, b-ii, c-iii, d-i

C. a-iii, bHii, c-iv, d-i

Remove the clots in
blood vessels
Competitive inhibitor
of cholesterol
synthesizing enzyme
Immunosuppressant
Soap industry to
remove oil stains.



https://dl.doubtnut.com/l/_qQFXi1SZzCOb
https://dl.doubtnut.com/l/_u4X5nF4pjpbZ

D. a-iv, b-i, c-iii, d-ii

Answer: A

o Watch Video Solution

221. Match the following and find the correcy combination

W Cellulase () Cell wall of bacteria

o) Chitinase (1) Cell wall of plant cells

() Lyvsozyme (ui) Proteins

(@) Protease (1) Cell wall of fungal wall
(v) RNA

A. a-ii, b-iv, c-i, d-iii
B. a-iii, b-i, c-iv, d-iii
C. a-v, b-i, c-iii, d-ii

D. a-v, b-iv, c-i, d-ii


https://dl.doubtnut.com/l/_u4X5nF4pjpbZ
https://dl.doubtnut.com/l/_GRT9y3EUA74a

Answer: A

° Watch Video Solution

222. Identify the correct pair of characters of a bacterium
which is useful in production of methane
(i) Recyclers of inorganic nutrients (ii) Present in stomach

of cattle (iii) Obtain energy from sunlight (iv) Aerobes

B. i, i

C.i,iv

D. iii, iv

Answer: B


https://dl.doubtnut.com/l/_GRT9y3EUA74a
https://dl.doubtnut.com/l/_PkJuFFW07mZ4

o Watch Video Solution

223. Which antibiotic is not produced by streptomyces

A. Bacitracin

B. Chloromycetin

C. Nystatin

D. Aureomycin

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PkJuFFW07mZ4
https://dl.doubtnut.com/l/_1VTPyMg2o35r

224. Which of the following antibiotics kills bacterial cells

by inhibitng the polymerisation of peptidoglycans

A. Aminoglycosides

B. Fluoroquiolones

C. Quinine
D. Penicillin
Answer: D

° Watch Video Solution

225. Which one of the following organsims is not used as

biocontrol agent ?


https://dl.doubtnut.com/l/_cqOJirRNFDTE
https://dl.doubtnut.com/l/_hzvzeCtaAGMe

A. Bacillus sphaericus

B. Trichoderma viride

C. Bacillus thuringenesis

D. Bacillus subtilis

Answer: D

o Watch Video Solution

226. Which one of the following insecticides is of plant

origin

A. Ecdysone

B. Rotenone


https://dl.doubtnut.com/l/_hzvzeCtaAGMe
https://dl.doubtnut.com/l/_dIUVNQmsMoNU

C. Parathion

D. Malathion

Answer: B

o Watch Video Solution

227. Mostly bread is semi-sweet in taste due to

A. Yeast

B. Remnants of alcohol

C. Sugar

D. Acetic acid

Answer: B


https://dl.doubtnut.com/l/_dIUVNQmsMoNU
https://dl.doubtnut.com/l/_9mLo7hUhRhFV

o Watch Video Solution

228. Identify the correct sequence of steps involved in the
treatment of sewage

(i) Growth of aerobic microbes to reduce BOD (ii)
Sequential filtration for removing floating debris (iii)
Production of inflammable gas (iv) Growth of anaerobic

microbes for digestion of bacteria

B. ii, iV, I, i

C.ii, 1,0, il

D. iv, i, iii, |

Answer: C


https://dl.doubtnut.com/l/_9mLo7hUhRhFV
https://dl.doubtnut.com/l/_pMZbqAsF40QX

o Watch Video Solution

229. Match and find the correct option
' I
' Statins ‘1 Propioritacterium
. . sharmani:
(l_ t ) Swiss cheese (b) Streptococcus
(f") Cyclosporin A (c) Aspergillus niger
@iv) Citric acid (d) Trichoderma
polysporum

(v) Clot buster (60 Monascus pur-
pureus

A. i-e, ii-a, iii-d, iv-c, v-b
B. i-b, ii-a, iii-d, iv-e, v-C
C. i-e, ii-a, iii-b, iv-c, v-d

D. i-c, ii-e, iii-a, iv-d, v-b

Answer: A


https://dl.doubtnut.com/l/_pMZbqAsF40QX
https://dl.doubtnut.com/l/_gEf9vz5ZyMsa

o Watch Video Solution

230. Parathion is a pesticide.In which one of the following

categories it belongs

A. Organochlorine

B. Synthetic pyrethroids

C. Carbamate

D. Organophosphate

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_gEf9vz5ZyMsa
https://dl.doubtnut.com/l/_RW00JpRELuxK

231. Genes for antibiotic resistance located in

Or

Bacterial resistance to antibiotics is a genetic trait, it is

normally carried by the

A. Centromere

B. Plasmid

C.Chromosome

D. Intron

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zuMytJhAi8lC

232. Which of the following microorganisms is used as a

biofertiliser

A. Bacillus

B. Azospirillum

C. Pseudomonas

D. Saccharomyces

Answer: B

o Watch Video Solution

233. Which of the following act as biofertilizers

A.Blue-green algae


https://dl.doubtnut.com/l/_Yd1F0rgljx1U
https://dl.doubtnut.com/l/_mmGjNxZ46ES9

B. Green algae

C. Yellow algae

D. Red algae

Answer: A

o Watch Video Solution

234, Use of living organisms for removing pollutants from

the biosphere is called

A. Green movements

B. Phytoremediation

C. Bioremediation


https://dl.doubtnut.com/l/_mmGjNxZ46ES9
https://dl.doubtnut.com/l/_upnLuNdppdLW

D. Remediation

Answer: C

° Watch Video Solution

235. Which is used as biofertilizer

A. Azolla

B. Marchantia

C. Funaria

D. Dryopteris

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_upnLuNdppdLW
https://dl.doubtnut.com/l/_ObJt6UIqlVyS

236. When the milk has been pasteurised successfully, the

milk no longer contain the enzyme

A. Polymerase

B. Phosphatase

C. Peroxidase

D. Pyrimidinase

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ObJt6UIqlVyS
https://dl.doubtnut.com/l/_YlyX3rSp8aBw

237. Match the correct pairs

| I
(1) (_Jhl()r()my(:m,m () Streptomces, groe ..
(i1) Erythromycin (b) Penicillium chrysogenum
(ii1) Penicillin (c) Streptomyces erythreus
(iv) Streptomycin (d) Streptomyces venezuelae

A. i-d, ii-b, iii-c, iv-d
B. i-d, ii-c, iii-b, iv-a
C. i-b, ii-d, iii-a, iv-c

D. i-c, ii-a, iii-d, iv-b

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MxM4tYFze4pi

238. Which one of the following processes involved in

alcohol production is not involved in wine production

A. Malting

B. Mashing

C. Fermentation

D. Distillation

Answer: D

o Watch Video Solution

239. Identify the microorganisms that produces biomass of

proteins


https://dl.doubtnut.com/l/_sIX7sDARNDne
https://dl.doubtnut.com/l/_tZL1hcD21PMO

A. Monascus purpureus

B. Aspergillus niger

C. Methylophilus methylotropus

D. Trichloderma polysporum

Answer: C

o Watch Video Solution

240. Rising of dough is due is

A. Methane

B. Carbon dioxide

C. Hydrogen sulphide


https://dl.doubtnut.com/l/_tZL1hcD21PMO
https://dl.doubtnut.com/l/_eBA3H2YoDbwq

D. Ammonia

Answer: B

o Watch Video Solution

241. The primary treatment of sewage involes

A.Sludge digestion

B. Aerobic bacterial activity

C. Anaerobic bacterial activity

D. Filtration and sedimentation

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eBA3H2YoDbwq
https://dl.doubtnut.com/l/_HDThEH1FnWGO

242. A person was admitted to a hospital as he had

myocardial infarction. A cardiologist injected him

streptokinase. Why

A. It reduces hypertension

B. It reduces level of blood cholesterol

C. It stimulates heart beat

D. It acts as clot buster

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_HDThEH1FnWGO
https://dl.doubtnut.com/l/_kZrD55CFqc6K

243. Large holes in Swiss cheese are formed due to

production of large amount of CO, by

A. Propionibacterium

B. Myobacterium

C. Saccharomyces

D. Penicillium

Answer: A

o Watch Video Solution

244, Cyclosporin A, used as immunosuppressive agent in

organ transplants is produced by


https://dl.doubtnut.com/l/_JROypyJL1PGd
https://dl.doubtnut.com/l/_rZ2Gq0hoFZV4

A. Trichoderma

B. Monascus

C. Streptococcus

D. Staphylococcus

Answer: A

o Watch Video Solution

245. Match the following and find the correct option

i I
¢ ristian Hansen (1)  Vaceination
- Wiksman (z1) Penicillin
I“dward Jenner (1i1) Purification of
enzyme rennet

7 Alexander Fleming (jv) Strepwmycm 7


https://dl.doubtnut.com/l/_rZ2Gq0hoFZV4
https://dl.doubtnut.com/l/_z8SbdrhEYzcE

A. a-iv, b-i, c-ii, d-iii

B. a-iii, b-i, c-iv, d-ii

C. a-iii, b-ii, c-i, d-iv

D. a-iii, b-iv, c-i, d-ii

Answer: D

o Watch Video Solution

246. The following change is observed due to addition of

hops is bear wart during fermentation

A. Colour

B. Flavour


https://dl.doubtnut.com/l/_z8SbdrhEYzcE
https://dl.doubtnut.com/l/_jOukKfVjC5wC

C. Mild antibacterial activity

D. All the above

Answer: D

o Watch Video Solution

247.Vitamin By, is obtained from

A. Propionibacteria

B. Ashbya gossypii

C. Bacillus subtilis

D. Saccharomyces cerevisiae

Answer: A


https://dl.doubtnut.com/l/_jOukKfVjC5wC
https://dl.doubtnut.com/l/_Ipyx5216WyaW

o Watch Video Solution

248. The molecular structure of penicillin antibiotic is

A. Macrocyclic lactone

B. Glycoside linkage in amino sugar

C. B-lactan ring

D. Polyaene and nonpolyaene

Answer: C

o Watch Video Solution

249, Pasteurisation is carried out at


https://dl.doubtnut.com/l/_Ipyx5216WyaW
https://dl.doubtnut.com/l/_3WHeIoH8OQfz
https://dl.doubtnut.com/l/_qLI1FrAMcNuT

A. Warmed at 80° C' for 5 minutes and cooled slowly

B. Boiled at 100° C and cooled slowly

C. Treated with citric acid

D. Warmed at 60° C for 20 minutes and cooled fast

Answer: D

° Watch Video Solution

250. Which is not properly matched

A.Innermost wall of Gram (-) ve bacterium -

Mucopeptide

B. Chromatium bacterium - Photolithotroph


https://dl.doubtnut.com/l/_qLI1FrAMcNuT
https://dl.doubtnut.com/l/_ua9yJ2ftikFp

C. Streptomyces rimosus - Chloromycetin

D. Clostridium botulinum - Food poisoning

Answer: C

° Watch Video Solution

251. Which of these methods is not part environmental

pest control

A. Intercropping

B. Interducing predators or parasites

C. Plant trap crops

D. Sterile male technique


https://dl.doubtnut.com/l/_ua9yJ2ftikFp
https://dl.doubtnut.com/l/_IiqZYrUXi2xe

Answer: D

o View Text Solution

252. Which is wrongly matched

A. Clostridium butylicum - lipase removal of oil stains

B. Trichoderma polysporum- Cyclosporin A-

Immunosuppressive drug

C. Monascs  purpureus-Statins-Lowering of blood

cholesterol

D. Streptococcus-Streptokinase-Removal of clot from

blood vessel


https://dl.doubtnut.com/l/_IiqZYrUXi2xe
https://dl.doubtnut.com/l/_P2YlP1C5SkwL

Answer: A

o Watch Video Solution

253. Match the column and find the correct option

I

() Citrie acid
(hy Cyclosporin
(¢) Stnting

() Butyric ncid

A. a-iii, b-iv, c-i, d-ii
B. a-iii, b-i, c-ii, d-iv
C. a-iii, b-i, c-iv, d-ii

D. a-i, b-iv, c-ii, d-iii

Answer: C

(1)
(11)
(111)
(101)

’l’l I('/Nu/«"l il
Clostriddiiem
Aspergall:,

Moncicus



https://dl.doubtnut.com/l/_P2YlP1C5SkwL
https://dl.doubtnut.com/l/_fNkTMt2CERIK

o Watch Video Solution

254, Select the incorrect match

A. Citric acid - Aspergillus niger

B. Strepto kinase - Streptococcus

C. Butyric acid -Clostridium acetobutylicum

D. Cyclosporin A- Monascus purpureus

Answer: D

o Watch Video Solution

255. Which is used as bioinsecticide


https://dl.doubtnut.com/l/_fNkTMt2CERIK
https://dl.doubtnut.com/l/_vATYB6ZWcNws
https://dl.doubtnut.com/l/_L4zd68BVR2Tk

A. Bacillus polymyxa

B. Cylindrospermum licheniforme

C. Phytophthora palmivora

D. Chrysanthemum cinerarifolium

Answer: D

° Watch Video Solution

256. Assertion : Curdling is required in the manufacture of
cheese.
Reason : Lactic acid bacteria are used for the purpose.

A.if both are true with reason being correct

explanation


https://dl.doubtnut.com/l/_L4zd68BVR2Tk
https://dl.doubtnut.com/l/_pkTp47RLuiyx

B. both are true but reason is not correct explanation

C. assertion is true but reason is wrong

D. both are wrong

Answer: B

° Watch Video Solution

257. Assertion : Endomycorrhiza of forest trees contribute
to the efficient nutrient cycling in tropical forest
ecosystem.

Reason : The fungi that form mycorrhizal associations with

plants make nutrient ions available to them.


https://dl.doubtnut.com/l/_pkTp47RLuiyx
https://dl.doubtnut.com/l/_Hm6uPKiU1uTa

A.if both are true with reason being correct

explanation

B. both are true but reason is not correct explanation

C. assertion is true but reason is wrong

D. both are wrong

Answer: A

o Watch Video Solution

258. Which of the following antibiotics is not correctly

matched with the source from which it is obtained ?

A. Penicillin - Penicillium chrysogenum


https://dl.doubtnut.com/l/_Hm6uPKiU1uTa
https://dl.doubtnut.com/l/_KKyGoC4HevaP

B. Bacitracin - Bacillus licheniformis

C. Griseofulvin - Penicillium griseofulvum

D. Streptomycin - Bacillus griseus

Answer: D

o Watch Video Solution

259. Which of the following in sewage treatement removes

suspended solids.

A. Tertiary treatment

B. Secondary treatment

C. Primary treatment


https://dl.doubtnut.com/l/_KKyGoC4HevaP
https://dl.doubtnut.com/l/_D7OvxF7iTcrq

D. Sludge treatment

Answer: C

o Watch Video Solution

260. Select the mismatch

A. Frankia- Alnus

B. Rhodospirillum - Mycorrhiza

C. Anabaena - Nitrogen fixer

D. Rhizobium-Alfalfa

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_D7OvxF7iTcrq
https://dl.doubtnut.com/l/_3KcY8eV8zrVR

261. Which of the following is correctly matched for the

product produced by them

A. Acetobacter aceti - antibiotic

B. Methanobacterium - lactic acid

C. Penicillium notatum - acetic acid

D. Saccharomyces cerevisiae - Ethanol

Answer: D

o Watch Video Solution

Cyg


https://dl.doubtnut.com/l/_3KcY8eV8zrVR
https://dl.doubtnut.com/l/_6mC7t8fWmPec
https://dl.doubtnut.com/l/_3yFWtLo0smPA

1. Scaling up in biotechnology means

A. Development of a process in laboratory

B. Development of a laboratory scale plant for

obtaining a product

C. Coversion of laboratory scale process to pilot plant

scale

D.Conversion of a laboratory scale plant to

manufacture unit.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3yFWtLo0smPA

2. Wine Yeast is

A. Saccharomyces cerevisiae

B. S. ellipsoidens

C.S. pireformis

D. S. sake

Answer:

o Watch Video Solution

3. Inoculant for cheese culture is

A. Streptococcus lactis


https://dl.doubtnut.com/l/_HZhywYGOtSUx
https://dl.doubtnut.com/l/_f7AwywM6f8Kd

B. S. cremoris

C. Leuconostoc citrovorum

D. All the above

Answer:

o Watch Video Solution

4.Indian Lassi differs from Yoghurt and Buttermilk in

A. Use of unskimmed milk

B. Absence of fermentation by Yeast

C. Fermenting microbe

D. All the above


https://dl.doubtnut.com/l/_f7AwywM6f8Kd
https://dl.doubtnut.com/l/_43ojHVbE4Okw

Answer:

o Watch Video Solution

5. Diastase was first prepared by

A. Rene Reamur

B. Dufrunfant

C. Payen and Persoz

D. Buchner

Answer: 3

o Watch Video Solution



https://dl.doubtnut.com/l/_43ojHVbE4Okw
https://dl.doubtnut.com/l/_pLKQD65nfDDC
https://dl.doubtnut.com/l/_gSOfEgmteLba

6. Streptokinase is used for

A. Treating bacterial diseases

B. Preparation of cheese

C. Clearing blood clots

D. Clearing fruit juices

Answer: C

° Watch Video Solution

7. The concept of antibiosis was prodounded in 1889 by:

A. Babes

B. Pasteur and Jaubert


https://dl.doubtnut.com/l/_gSOfEgmteLba
https://dl.doubtnut.com/l/_ZWNuOHtCdg8W

C. Vuillemin

D. Rene Dubois

Answer: C

o Watch Video Solution

8. Lipase is employed during cheese preparation for

A. Increased life of cheese

B. Flavouring cheese

C. Removal of fat from cheese

D.Both Aand B

Answer:


https://dl.doubtnut.com/l/_ZWNuOHtCdg8W
https://dl.doubtnut.com/l/_DlnAFOUoXfPw

o Watch Video Solution

9. Sesbania rostrata is preferred as green manure over

other species because

A. It grows quickly

B. It has extensive root system

C. It possesses nodules on both stem and roots

D. It possesses leaf nodules

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DlnAFOUoXfPw
https://dl.doubtnut.com/l/_r465aihVc0sb

10. Biofertilizer is

A. Manure

B. Enriched manure

C. Nutrient rich organisms

D. Composited manure

Answer:

o Watch Video Solution

11. Azolla pinnata is allowed to grow in rice fields because

A. It does not disturb photosynthesis of Rice plants


https://dl.doubtnut.com/l/_txG6O0BCPihL
https://dl.doubtnut.com/l/_7dviHENJnIkV

B. It provides food to fish

C. It provides aeration to standing water

D. It contains Anabaena

Answer: 4

o Watch Video Solution

12. What is VAM

A. Ectomycorhiza

B. Endomycorhiza

C. Green manure

D. Mycorherbicides


https://dl.doubtnut.com/l/_7dviHENJnIkV
https://dl.doubtnut.com/l/_RjsKx9TpVeZ1

Answer:

o Watch Video Solution

13. Antifeedant property is found in

A. Margosa

B. Parthenium

C. Chrysanthemum

D. Sesbania

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_RjsKx9TpVeZ1
https://dl.doubtnut.com/l/_Rti1KN6DUDSc

Brain Teasers Viii

1. Human society started use of bronze/copper

A. Earlier than iron

B. Later than iron

C. Around 2000 B.C.

D.Both B and C

Answer: A

o Watch Video Solution

2. Use of iron started around


https://dl.doubtnut.com/l/_0l1Zqm4A3jgn
https://dl.doubtnut.com/l/_dyd0BSy2YxWs

A. 6000 B.C.

B. 1000 B.C.

C.300B.C.

D. First century AD.

Answer: B

o Watch Video Solution

3. Settled agriculture began around

A. 1000 B.C.

B. 8000 B.C.

C. 4000 B.C.


https://dl.doubtnut.com/l/_dyd0BSy2YxWs
https://dl.doubtnut.com/l/_rVSTYxOKnGON

D. 1500 B.C.

Answer: C

o Watch Video Solution

4. Settled agriculture was first practised by

A. Aryans

B. Romans

C. Chinese

D. Sumerians

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_rVSTYxOKnGON
https://dl.doubtnut.com/l/_ykFDNEgPM0Yr

5. Plough was developed around

A.3500 B.C.

B. 2500 B.C.

C. 1500 B.C.

D. 500 B.C.

Answer: A

o Watch Video Solution

6.1ron plough came into use around

A. 1000 B.C.


https://dl.doubtnut.com/l/_ykFDNEgPM0Yr
https://dl.doubtnut.com/l/_HEwcQ0bE63yU
https://dl.doubtnut.com/l/_PYuBqPes5CWj

B. 1500 B.C.

C. 500 B.C.

D. First century B.C.

Answer: C

o Watch Video Solution

7. Agrochemicals are

A. Chemical products of agriculture

B. Synthetic chemicals employed in agriculture

C. Chemicals used as pesticides

D. Chemicals used as fertilizers


https://dl.doubtnut.com/l/_PYuBqPes5CWj
https://dl.doubtnut.com/l/_tr2qisS2BnY1

Answer: B

o Watch Video Solution

8. The concept of organic farming started in

A. 1990 s

B. 1980 s

C.1970 s

D. 1960 s

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tr2qisS2BnY1
https://dl.doubtnut.com/l/_TxwQMkrd5GbF
https://dl.doubtnut.com/l/_2IkL2tLD6Okg

9. Organic farming does not employ

A. Compost

B. Pesticides

C. Removal of weeds

D. Agrochemicals

Answer: D

° Watch Video Solution

10. Organic of fertilizers, organic farming uses

A. Compost and manure

B. Green manuring


https://dl.doubtnut.com/l/_2IkL2tLD6Okg
https://dl.doubtnut.com/l/_cbeUKaYMTJK9

C. Crop rotation and intercropping

D. All the above

Answer: D

o Watch Video Solution

11. The pesticides used in organic farming are

A. Organochlorines

B. Carbamates

C. Margosa, nicotine and pyrethrum

D. All the above

Answer: C


https://dl.doubtnut.com/l/_cbeUKaYMTJK9
https://dl.doubtnut.com/l/_voncTbAC9rHZ

o Watch Video Solution

12. Products of organic farming are preferred because they

are

A. Free from pollutants

B. Costlier

C. More delicious

D. Large sized

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_voncTbAC9rHZ
https://dl.doubtnut.com/l/_vlIoeLHisPQw

13. Burning of chlorinated materials directly or in

incinerators yields a toxic chemical called

A. Chlorine

B. Dioxin

C.24,5-T

D. HCl

Answer: B

o Watch Video Solution

14. Hexachlorophene is a bactericide often used in

A. Medicines


https://dl.doubtnut.com/l/_vX0lBYrpkrDr
https://dl.doubtnut.com/l/_4zCcY8nv8w9n

B. Antibiotics

C. Disinfectants and soaps

D. Preservatives

Answer: C

o Watch Video Solution

15. Which is a common impurity in 2,4,5-T

A. TCDD

B.2,4-D

C. Ethylene

D. Terpenes


https://dl.doubtnut.com/l/_4zCcY8nv8w9n
https://dl.doubtnut.com/l/_5KQ34Bqg8IXZ

Answer: A

o Watch Video Solution

16. TCDD is

A. Carbamate

B. Organophosphate

C. Arsenite

D. Dioxin

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5KQ34Bqg8IXZ
https://dl.doubtnut.com/l/_IIwWKi6KZyFc
https://dl.doubtnut.com/l/_5Vdge7siWF42

17. Skin disfigurement caused by dioxin is

A. Chlor-acne

B. Urticaria

C. Dermatitis herpetiformis

D. Necrosis

Answer: A

° Watch Video Solution

18. Why are raw foods kept below in refrigerators while

cooked foods are kept above

A. For proper handling and storage


https://dl.doubtnut.com/l/_5Vdge7siWF42
https://dl.doubtnut.com/l/_fUOThkLdR1mc

B. Cooked food requires 5° C while raw foods require

10° C for low temperature preservation

C. Cooked food stays fresh at 3° C while raw foods do

soat5°C

D. Cooked food fresh for longer period at 5°C' while

raw foods doso at 3°C

Answer: C

o Watch Video Solution

19. Safe refrigeration period is

A. 1-2 days


https://dl.doubtnut.com/l/_fUOThkLdR1mc
https://dl.doubtnut.com/l/_sxsTOVPEfxbI

B. 2-3 days

C. 2-4 days

D. 3-6 days

Answer: D

o Watch Video Solution

20. Articles kept in refrigerator for several days get spoilt

due to

A. Frequent electricity failures

B. Nonkilling of contaminant microorganisms

C. Slow conversion of starch to sugar


https://dl.doubtnut.com/l/_sxsTOVPEfxbI
https://dl.doubtnut.com/l/_KVQzPW82aTdk

D. Slow breakdown of vitamins and proteins

Answer: B

o Watch Video Solution

21. Pasteurised milk remains unspoilt for

A. 2-5 days
B. One day
C. One week

D. Two weeks

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KVQzPW82aTdk
https://dl.doubtnut.com/l/_3HCQxJeifZlG

22. A treatment that keeps milk fresh for several weeks is

A. Ultraviolet treatment

B. Ultraheat treatment

C. Infra-red treatment

D. Freeze chilling treatment

Answer: B

o Watch Video Solution

23. Temperature in deep freezes for preserving food

articles is


https://dl.doubtnut.com/l/_3HCQxJeifZlG
https://dl.doubtnut.com/l/_Fe3z8DfNj3zB
https://dl.doubtnut.com/l/_Sp7qek0b4DRO

A.0°C

B.—4°C

c.—10°C

D.—18°C
Answer: D

o Watch Video Solution

24. Temperature for UHT of milk is

A. 95° C for 10 seconds

B.110° C for ten seconds

C.132°C for one second


https://dl.doubtnut.com/l/_Sp7qek0b4DRO
https://dl.doubtnut.com/l/_EoQviWyBmewq

D. 132° C for ten seconds

Answer: C

o Watch Video Solution

25. Raw vegetables to be preserved in deep freezes must

be pretreated with

A. Food preservatives

B. Sprayed with disinfectants

C. Dipped in hot water

D. All the above

Answer: C



https://dl.doubtnut.com/l/_EoQviWyBmewq
https://dl.doubtnut.com/l/_RKFU1oq65mTV

l o Watch Video Solution

26. Food additive is

A. Preservative and flavour

B. Sweetener

C. Stabilizer

D. All the above

Answer: D

o Watch Video Solution

27. Additive-stabilizer used in butter is


https://dl.doubtnut.com/l/_RKFU1oq65mTV
https://dl.doubtnut.com/l/_BVjX9rkRIHNQ
https://dl.doubtnut.com/l/_SMfrpIKOPCtj

A. Disodium dihydrogen diphosphate

B. Trisodium diphosphate

C. Tetrasodium diphosphate

D. All the above

Answer: D

° Watch Video Solution

28. A preservative which can cause reaction in asthmatics,

allergy and hyperactivity in childern is

A. Sodium benzoate

B. Sodium metabisulphite


https://dl.doubtnut.com/l/_SMfrpIKOPCtj
https://dl.doubtnut.com/l/_e3832ZCgrpr9

C. Carboxy-methyl cellulose

D.Both Aand B

Answer: D

° Watch Video Solution

29. Paper was inverted in

A. India

B. China

C.England

D. Spain

Answer: B


https://dl.doubtnut.com/l/_e3832ZCgrpr9
https://dl.doubtnut.com/l/_ypcBhiQT8aIA

o Watch Video Solution

30. Tsai Lun is famous for inventing

A. Paper

B. Use of tannins

C. Rubber

D. Silk

Answer: A

o Watch Video Solution

31. Vulcanisation of Rubber is carried out to make is


https://dl.doubtnut.com/l/_ypcBhiQT8aIA
https://dl.doubtnut.com/l/_jIDMQwklC5Hk
https://dl.doubtnut.com/l/_75WL3UIUP1ca

A. Soft

B. Elastic

C. Resistant to temperature changes

D. Hard and inelastic

Answer: C

o Watch Video Solution

32.Styrene-butadiene is a

A. Synthetic rubber

B. Natural rubber

C. Biodegradable plastic


https://dl.doubtnut.com/l/_75WL3UIUP1ca
https://dl.doubtnut.com/l/_hOBwMyOkmtyo

D. Recycled plastic

Answer: A

o Watch Video Solution

33. Modern shoe soles are made of

A. Plastic

B. Synthetic rubber

C. Vulcanised rubber

D. Mixture of plastic and rubber

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hOBwMyOkmtyo
https://dl.doubtnut.com/l/_eyKIGGyoniGE

34.Tannin is

A. Made of phenol rings

B. Capable of precipitating gelatin

C. Used for formation of leather

D. All the above

Answer: D

o Watch Video Solution

35. Ptomaine is

A. Causative agent for food poisoning


https://dl.doubtnut.com/l/_eyKIGGyoniGE
https://dl.doubtnut.com/l/_Kw2iKSZcVHUv
https://dl.doubtnut.com/l/_SDluw9U1yB4E

B. Toxic alkaloid formed during bacterial decomposition

of protein

C. Allergin

D. All the above

Answer: B

o Watch Video Solution

36. Penicillin was first commercially Prepared in

A. UK.

B. France

C.USA.


https://dl.doubtnut.com/l/_SDluw9U1yB4E
https://dl.doubtnut.com/l/_Mv6hnW1BaJMs

D. Canada

Answer: C

o Watch Video Solution

37. The first person to propose that disease is due to

natural cause was

A. Aristotle

B. Hippocrates

C. Vesalius

D. Pasteur

Answer: B



https://dl.doubtnut.com/l/_Mv6hnW1BaJMs
https://dl.doubtnut.com/l/_x8A9fyGqfeIC

l o Watch Video Solution

38. Natural pai killers produced by nerve cells of brain are

A. Enkephalins

B. Endorphins

C. Interferons

D. Dopamines

Answer: A

o Watch Video Solution

39. Endorphins are produced by


https://dl.doubtnut.com/l/_x8A9fyGqfeIC
https://dl.doubtnut.com/l/_HAva6fWYjr9a
https://dl.doubtnut.com/l/_3fg7fI9qc5tU

A. Pineal body

B. Thymus

C. Pituitary gland

D. Both pituitary gland and hypothalamus

Answer: D

o Watch Video Solution

40. Endorphins reduce perception of pain through

A. Sedation

B. Blocking nerve transmission

C. Opposing encephalins


https://dl.doubtnut.com/l/_3fg7fI9qc5tU
https://dl.doubtnut.com/l/_fGVF64MfDtzT

D. All the above

Answer: B

o Watch Video Solution

41. Percentage of world population suffering from diabetes

is

A. 48 %

B.24 %

C.4%

D.1%

Answer: C



https://dl.doubtnut.com/l/_fGVF64MfDtzT
https://dl.doubtnut.com/l/_5eMf3HrLh20P

l o View Text Solution

42.Number of malaria patients every year is

A. 1000 million

B. 400 million

C. 100 million

D. 40 million

Answer: B

o View Text Solution

43. Deaths due to malaria every year number


https://dl.doubtnut.com/l/_5eMf3HrLh20P
https://dl.doubtnut.com/l/_hr0oJOriLgYv
https://dl.doubtnut.com/l/_FOsRjcXALdVl

A. 100 million

B. 20 million

C. 5 million

D. 0.5 million
Answer: C

o Watch Video Solution

44, Abzyme is

A. Antienzyme

B. Antienzyme

C. Enzyme-like antibody


https://dl.doubtnut.com/l/_FOsRjcXALdVl
https://dl.doubtnut.com/l/_riT2u0TcFGj7

D.Both Aand B

Answer: C

o Watch Video Solution

45.The least broad-spectrum antibiotics are

A. Cyclosporins

B. 4-Quinolones

C. Gentamicins

D. Neomycins

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_riT2u0TcFGj7
https://dl.doubtnut.com/l/_LOJhAFAPmMFD

46. Single domain antibodies are

A. Effective against only one type of antigen

B. Effective against whole range of bacteria

C. Effective against both bacteria and viruses

D.Small part of antibody which can combine with

variety of materials

Answer: D

o Watch Video Solution

47. Stimulant alkaloid present in Tea is


https://dl.doubtnut.com/l/_LOJhAFAPmMFD
https://dl.doubtnut.com/l/_dKzfvozkT2Xq
https://dl.doubtnut.com/l/_B3by0XzXMf4q

A. Thebaine

B. Tannin

C. Caffeine

D.Both B and C

Answer: C

o Watch Video Solution

48. Number of cups beyond which Tea or Coffee becomes

harmful is

A.6

B.10


https://dl.doubtnut.com/l/_B3by0XzXMf4q
https://dl.doubtnut.com/l/_qhEn6j8GfQgX

C. 4

D.3

Answer: A

° Watch Video Solution

49, Crack is

A. Synthetic opiod

B. Pencyclidine

C. Cocaine bicarbonate

D. Tetrahydrocannibol

Answer: C


https://dl.doubtnut.com/l/_qhEn6j8GfQgX
https://dl.doubtnut.com/l/_GTVUJjO8UvIR

o Watch Video Solution

50. Which one is an endoscope

A. Laproscope

B. Proctoscope

C. Laryngoscope

D. All the above

Answer: D

o Watch Video Solution

51. Ultrasound was first used by


https://dl.doubtnut.com/l/_GTVUJjO8UvIR
https://dl.doubtnut.com/l/_IVKSfLZNb8kT
https://dl.doubtnut.com/l/_XvaZ1rCrIFYr

A. Olaf von Ram

B. lan Donald

C. Hardy

D. Einthoven

Answer: B

° Watch Video Solution

52. PET is useful for diagnosing

A. Schizophrenia

B. Alzheimer's disease

C. Parkinson's disease


https://dl.doubtnut.com/l/_XvaZ1rCrIFYr
https://dl.doubtnut.com/l/_GYn216DVZEJg

D. All the above

Answer: D

o Watch Video Solution

53. Prior to vaccination, people used to protect themselves

from small pox through

A. Worship

B. Hygiene and nutrition

C. Veriolation

D. Getting infected with cow pox

Answer: C



https://dl.doubtnut.com/l/_GYn216DVZEJg
https://dl.doubtnut.com/l/_dzwIlKwqflzD

l o Watch Video Solution

54, Variolation consisted of

A. Injecting viriolous matter

B. Injecting heat-killed a viriolous matter

C. Scratching an area over a vein and pour small matter

from a small pox pustule

D. Scratching vein and pouring viriolous matter into

blood.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dzwIlKwqflzD
https://dl.doubtnut.com/l/_Ofk8DtGbmffm
https://dl.doubtnut.com/l/_ZNf5hzlkxIza

55.Vaccine against leprosy has been developed in

A. 1984

B. 1989

C. 1993

D. 1997

Answer: A

o Watch Video Solution

56. Continuous exposure to electromagnetic radiations

affects human systems through

A. Shock waves in ears


https://dl.doubtnut.com/l/_ZNf5hzlkxIza
https://dl.doubtnut.com/l/_xlyfUYIwtSNO

B. Continuous irritation to skin receptors

C. Irritating viscera

D. Distortion of nerve signals

Answer: D

o Watch Video Solution

57.Ts Cells are

A. Tumour suppressing cells

B. T-suppressor cells

C. Tissue cells

D. Complementary tissue cells


https://dl.doubtnut.com/l/_xlyfUYIwtSNO
https://dl.doubtnut.com/l/_IZrg96aivATS

Answer: B

o Watch Video Solution

58. Variolation was practised in

A. Brazil

B. East

C. West

D. Australia

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IZrg96aivATS
https://dl.doubtnut.com/l/_IyY3TTVKz01f
https://dl.doubtnut.com/l/_JyZqNJnci9bJ

59. Graft from foetal tissue is being used to cure

A. Schizophrenia

B. Leprosy

C. Parkinson's disease

D. Asthma

Answer: C

° Watch Video Solution

60. Oldest human transplant is

A. Kidney transplant

B. Liver transplant


https://dl.doubtnut.com/l/_JyZqNJnci9bJ
https://dl.doubtnut.com/l/_o278CmtOMI5f

C. Heart transplant

D. Corneal grafting

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_o278CmtOMI5f

